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211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 3,573,556.5 3,451,066.5 122,490.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 3,573,556.5 3,451,066.5 122,490.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 1,955,688.2 1,955,688.2 -
N3 T»E2Tx3AY»A
- a3 3rRalY»i, 1ASUST3Y EASEajeailY»h 4112 370,565.6 370,565.6 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 82,525.7 82,525.7 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 6,012.2 6,012.2 -
- T2AC 1363{a0AlasYY»h 4214 90,400.0 90,400.0 -
- 283413 -A3T3Y I3Eé»A 4215 11,000.0 11,000.0 -
- aluC  e3AUS TaRasUY»AC TSAOST3tacAlasY 4216 38,102.0 38,102.0 -
- U»AUCY - &fiT4i0460Y»f 4221 1,000.0 1,000.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 45,500.0 45,500.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 10,000.0 10,000.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 53,936.0 53,936.0 -
- 2RE3T3T3R0C UBEY=2-Cu3T3Y %3i- 3603y 4233 63,982.0 63,982.0 -
1=3¢3{a0AlasYY»h
- DO T3 TT3T3Y 1363[a5A145YY»f 4234 17,198.4 17,198.4 -
- T2E3T30E=213Y 13¢3a0AlasYY»h 4235 24,900.0 24,900.0 -
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- W Gwwunbbp pinuobihg 4729 53,040.0 53,040.0 -
- A3ATS31CA Tx3AY»0 4823 4,322.1 4,322.1 -
- 2[f I=Eé»h 4861 20,000.0 20,000.0 -
- T3EST3Y 63003 T1analY»h 5122 46,340.0 - 46,340.0
- 2[£ U»U»Y3Y»fi " 6=A0STARAUY»h 5129 40,150.0 - 40,150.0
- &4 YiasA=T=Y NCUY=3T3Y UCGadY»h 5132 36,000.0 - 36,000.0
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31 ATa0
1. USE3-[3[gY SRE3T3Y0Y»A 147,000.0 - 147,000.0
- USES- I3 r3%ar313Y [SEé»h 5134 147,000.0 - 147,000.0
2. OA"3Y 03030¢ -FE3idA N3T313-1I¢ 90,000.0 - 90,000.0
CAZT3Y36U3Y i»AtailaoAlasy
- USE=- 1213 r3T3Y 1SEé»f 5134 90,000.0 - 90,000.0
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1 |23 |4 5 6 7 8 9

3. Y47 C3idAU3Y ~ 136406343 1U3Y 50,000.0 - 50,000.0
Y3E3- I»AC UB3146U
- USE=- 13 13%ar313Y ISEé»h 5134 50,000.0 - 50,000.0

2160| 01| 6 | O |L4anhwGnip pGniyph hwlpuyghG ) 82,000.0 82,000.0 -
T36340AIacYY»i (3IF 136»AcY 483 113Y40)
&RCo

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewynieNLGbGEn (wyg 82,000.0 82,000.0 -
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31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 45,000.0 45,000.0 -
4A4BAGUY»AC " IxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 45,000.0 45,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 37,000.0 37,000.0 -
-ASYEU3Y, -YIN3TU3Y
TO0» I3 T T40AI3Y TA3U31A03Y N» 71
I3&731 (x3A460Y»A
- @36Y3 -0 3T3Y 1363(aAlasY Vi 4241 7,000.0 7,000.0 -
- A3AT31CA Tx3AY»f 4823 30,000.0 30,000.0 -
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31 ATa0
1. 8303036C313Y 8380 83Ya0AI3YY 36,200.0 15,000.0 21,200.0
Sc31640Al46Y
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 15,800.0 - 15,800.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 5,400.0 - 5,400.0

2250| 02| 5 | 0 |&3BU&3YAdAla6Y (3IF 136»ACY 4831 T3Y40) 9,270.0 9,270.0 -
&RCo

2251102 | 5 | 1 |a3Rwa3Yahlasy (3 136»ACY 483w T3Y40) 9,270.0 9,270.0 -
31 ATa0
2. 2IAYTASYO3ICY SREST3Ya3IcY 9,270.0 9,270.0 -
I136346AI3Y CAZT3Y306400
- Untpuhnhwttbp $howbuwlyub wbnwywh 4512 9,270.0 9,270.0 -

(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
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2400 04 0 TUTeE2T20 p2582" 2520AUa000°s 16,201,399.4 12,007,271.2 4,194,128.2
31 ATa0

2410|104 | 1 | O |L4nhwGnip pGnyph wnGunbuwlwa, 13,200.0 13,200.0 -
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&RCo

2411|104 | 1 | 1 |COnhwOntp pbnyph tnbwnbuwywb L welinpwihG 13,200.0 13,200.0 -
hwpwpbpnienLGbbn
31 ATa0
1. FAZT3E3ET BAcCl 36 1AC I»TA 13U 13,200.0 13,200.0 -
TASYER4AT3ICY UCcddA N31ail w3a3Iu
T»03=4E03Y ~ §3NE3YU3Y [363a0hlasy
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 13,200.0 13,200.0 -

2430|04 | 3 | O | T36»ECU ~ (Yoli-»TCI3 2,896,455.1 5,688.1 2,890,767.0
&RCo

2435|04 | 3 | 5 |¥»T WS Y»A-C3 2,896,455.1 5,688.1 2,890,767.0
31 ATa0
1. 6ypnuwlywil Gepnpntduyhl pwllyh 1,095,238.1 - 1,095,238.1
wowlygni pjwid) wlhwlwagynn «GpLwl,
(Y»hi-33A146Y31» T46AI3Y ! TA=3-CA
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 1,095,238.1 - 1,095,238.1
2. 2A »H3Y Oriaa 3¢ ; Y»h - SEY3alaiAl=3yY 821,428.6 - 821,428.6
L plwwwhwwlGwlwl gnpéplybpnippulb
$nlnh wywlgnipywdp hpwlwlwaynn
EOA3YC ; Yrii- B3ALAGY 3 1» WAGAIBY !
1A3U3RYAANZICY TAZ-CA
- b»YU»AC * BCYASAIASYY»AC TSACT3E T»i=Vafa-al | 5113 821,428.6 - 821,428.6
3. §OATYC ; Vo - B3ALAY3 I » T 40AI3Y} 600,000.0 - 600,000.0
[A3-A¢ N3U3ycY3Yé3ianal
- b»YU»AC ~ BCYASAIAGYY»AC TSACTSE T»A=Yana-aU | 5113 600,000.0 - 600,000.0
4. §°iiaa=313Y UC46AI4iYA @A3Y¢ 349,204.2 5,688.1 343,516.1
3A°3ey N3U3Yog N30U34A}
1A3U3RYAANZICY TAZ-CA
- 2t ISEé»f 4861 5,688.1 5,688.1 -
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 343,516.1 - 343,516.1
5. §OTA48313Y UC46Al4asYA Ch~3Y¢ 30,584.2 - 30,584.2
3[3cy N3U3Yag N303A IA3-AC
N3U3yCY3Ye3idndil
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 30,584.2 - 30,584.2

245004 | 5 | 0 | TA3YE&4AT 16,620,922.7 10,791,561.5 5,829,361.2
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2451|104 | 5 | 1 |O=Y=243AN3(CY TA=YeQan T 11,371,412.3 6,542,051.1 4,829,361.2
31 ATa0
1. Uupwywn-punbu dwdlh Jbpwlnpngnid 2,784,000.0 2,784,000.0 -
 83NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 2,784,000.0 2,784,000.0 -
a=N&=vail
2. Uupuwywn-punntyw dwédyh hhdGuwlnpngnid 150,000.0 - 150,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 150,000.0 - 150,000.0
5. D» W CATY 3Y640UY»A¢ 13é4i6400 120,000.0 - 120,000.0
I»A3Y4A4 - 46U
- b»YU»AC * BCYABAIASYY»AC TSACT3E I»Ai=Vafa-4U | 5113 120,000.0 - 120,000.0
6. T3UAc3icY 136406 I=IuY»AC 173,700.0 173,700.0 -
A3I3Y-YaiU ~ §3N&3YaoU
- 2t ISEé»f 4861 173,700.0 173,700.0 -
7. DAZBI3Y JCAXC ~ Of 3Y3Y ExC 6,000.0 6,000.0 -
pwnbywpanid
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 6,000.0 6,000.0 -
8. 3ias0CY»Ac ~~ +a046Y»Ac 212,000.0 - 212,000.0
I»A3136406400 ~ NCUY3Yana - 460
- b»YU»AC " RCYABAIAGYY»AC T3é45640U 5112 20,000.0 - 20,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 192,000.0 - 192,000.0
9. 640406 Y»A¢C E3NE3YE46U » i B3N=Z-4AT400 201,089.1 201,089.1 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 201,089.1 201,089.1 -
a=N&=vail
10. 2ZiTaI3/3Y31»0C 13503 1»A803Y 412,761.7 412,761.7 -
136346Ala6Y
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 52,761.7 52,761.7 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
- 2[f I=Eé»i 4861 360,000.0 360,000.0 -
12, TABY6R4AT3ICY N3U3134-¢ 4,000,000.0 - 4,000,000.0
BA1CI Y6460
- TASYE AR 3(CY 63A0= TaRaiUY»A 5121 4,000,000.0 - 4,000,000.0
13. 64046Y»AC, NA3&3ASIY»AC ~~ 3(-CY»AC 357,961.2 10,600.0 347,361.2
I=3N374naoy
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 5,600.0 5,600.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
a=N&=vail
- 2k I=Eé»i 4861 2,000.0 2,000.0 -
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 338,961.2 - 338,961.2
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CA3T3Y36i40 u303u3icY

»YA3BI136466 I3IuY»AC ~~ u303uC 13145y
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1,590,000.0

1,590,000.0
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1,590,000.0
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CA3T3Y36i40 u303u3icY
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843,449.6

843,449.6

- 2t [3Eeé»fi

4861

843,449.6

843,449.6

16. Uupwywl pwlGlyh wowlgnipjwdp
CA3T3Y36i40 u303u3icY

»YABT36400 I3 I0Y»AC ~ u3030C 1345Y
B3f - 36U3Y Y»A1Ag6U3cY IA=3-AC
N3U3134-460 ~ 1363737400
(B3TTICAZIT3I FC334A40AI40YY»h)

520,450.7

520,450.7

- 2t [3Eeé»fi

4861

520,450.7

520,450.7

2455
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- 2 UnU»Y3Y»f " e3A03TanalY»A
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13303 1»7440U0 (A3 1 TICAi=31T31

£ BUAAE0AIAGYY»F)

2,787,732.0

2,787,732.0

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

4511

2,787,732.0

2,787,732.0

3. I»A-»T VI3 (I TTABTABYEREATET
400" 4A3+4E31AU3Y [363a6Alasy

628,315.6

628,315.6

- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl
(N3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

4511

628,315.6

628,315.6

4. CTAZE3T3Y UCA6AI3Y N3h""3Ya6AI3Y
GGpnpnduyhl Spwigph wowlgntppwdp
CAZI3Y36740 ©A3YC U» T AAAEECT»YC
I»A3136400U3Y »AlA&AL 1ASBU3LYAANZ3ICY
IA3-CA (A3 T ICA3BTT3I FC3%AA40AIA5YY»A)

491,757.8

491,757.8

- 2t [3Eeé»fi

4861

491,757.8

491,757.8

5. 6Ypnwwlwl Gapnpntdughl pwllyp
wowlygni pjwid) whwlwagynn Gplw,

U» TAZEEFCT»YC I»AZ136406U3Y »AlAan
IA3-CA (A3 T ICA3STT31 FC3%AA40AIA5YY»A)

341,705.0

341,705.0

- 2t [3Eeé»fi

4861

341,705.0

341,705.0

2470
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Uy phwquywrGbp

59,600.0

59,600.0
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1 (2|34 5 6 7 8 9

2473104 | 7 | 3 |2pnuwnontpintl 59,600.0 59,600.0 -
3 ATasu
1. 2pnuuippgnipiul quipquigntd 59,600.0 59,600.0 -
-D3WAT YA 213y 3 YidsA»i 4269 7,600.0 7,600.0 -
- 2[f I=Eé»h 4861 52,000.0 52,000.0 -

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbGpnipIN GGG (wy (3,388,778.4) 1,137,221.6 (4,526,000.0)
136»fCY 4431 T3Y40)
anco’

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipntGbEn (wy nwubph (3,388,778.4) 1,137,221.6 (4,526,000.0)
4A3T1=2Y40)
3 ATasu
1. AdBY»AC T»031A46U 45,000.0 45,000.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 45,000.0 45,000.0 -
2. 2¢31640Al46Y N3U3lYo3icy 14,368.0 14,368.0 -
13303 1>A840A140Y Y»ACY
N&GOZAT3 F47Ad0AIa6YY»AC Ny a” IB& 1731
Y ix3i [363a0AlaoYY»Ac 3140603y ~
-»A»BUSYITY»AC GSN&3YU3Y N3U=3/
- AYA=6CT 1A=U3RYAANY»A &» 1 313Y 4637 14,368.0 14,368.0 -
N=2USVaY»AC 43 3é izl
T3UUST»AAA&0AIA0YY»ACY
3. T3E373AU3Y ~ 1»0» 1311313y 168,100.0 168,100.0 -
T»EYEFa -C3Y»AC %3 - 36400
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 168,100.0 168,100.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. 2¢31640Al46Y N3U3Ya3igy 44 534,083.6 534,083.6 -
N3U3IYa3IcY 13303 1»A840AI80Y Y»AC
IA3- A»AC Y
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 334,083.6 334,083.6 -
- UTcAST TasAlasyY»i 3k 33NalA al»r=4&v2ad 4819 200,000.0 200,000.0 -
T3UUST»AAA0AIA0YY»ACY
5. 44 yCY3Ye3I3Y 3T aCIiY»AC G 3A40UC6 (4,541,000.0) - (4,541,000.0)
DELE il
20p=28A TadUgk £520a0BE0 BATTEOD 8111 (540,000.0) - (540,000.0)
p25A2T20 Tallek £520a0DE0 BATECD 8121 (1,000.0) - (1,000.0)
PAOK £520a00/£0 BATEOS 8411 (4,000,000.0) - (4,000,000.0)
6. TaY313Y 0" =iafA4il 127,000.0 127,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 87,000.0 87,000.0 -
- 2[f I=Eé»h 4861 40,000.0 40,000.0 -
7. P37 3I13-IC YSE383TASBETU3Y 44,370.0 44,370.0 -

I33003Y BRE3T3YaY»i
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jwpswyw pniot | $nbnuwjhb pneet

Ler) | ot a SV L I ST ST A

a| 2 13313 U3Y NATT31Y»AC 3YT3YAUY»iA e
1 (2|34 5 6 7 8 9

- Untpuhnhwlbp ny wbwnwyw (ng hwdwyGpuwyhl) ns 4521 44,370.0 44,370.0 -
YCY3Ye3T3Y T3%UST»A&40AIA0YY»ACY
8. U»AzAaasu3icy IA3 - Ai»Ac CAZT3Y3646U 133,000.0 133,000.0 -
- DO T3 TT3T3Y 1363[a5Al45YY»f 4234 5,000.0 5,000.0 -
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 13,000.0 13,000.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 115,000.0 115,000.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
9. A3AT3ICA Ix3AY»AC - 3YOU3Y 6,300.0 6,300.0 -
1363146A46YY»i
- DO TS T3IT3Y 1363(40Al46YY»h 4234 6,300.0 6,300.0 -
10. 263Y0V3N31461 E3W3YY»AC 13ACu 15,000.0 - 15,000.0
46Y»640 2BY03Y6 N3U3i U3 1 a»ECAiAIBY
383N4i4oU
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 15,000.0 - 15,000.0
12. PAS T34 r461400 §3N3Ycal AYA36CT 65,000.0 65,000.0 -
SREST3Y0Y»AC CAZI3Y3646U
- 2t ISEé»f 4861 65,000.0 65,000.0 -

2500(05| 0 | O pd22T2 GF221208F a2bTaz2UasAlacy 17,401,319.5 16,293,079.5 1,108,240.0
3 ATasu

2510|105 | 1 | O |Unpwhwlnid 10,456,788.7 10,093,548.7 363,240.0
Ely[el)

2511 05| 1 | 1 |Unpwhwantd 10,456,788.7 10,093,548.7 363,240.0
3 ATasu
1. Unpwhwlnmipint b L ywGhunwpwluwl 360,900.0 13,000.0 347,900.0
U=30A46U0
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoAx»f 4267 13,000.0 13,000.0 -
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 50,000.0 - 50,000.0
- TABYEAAA T 3(CY 63hu=Tanaiuy»h 5121 65,400.0 - 65,400.0
- 2[E U»U»Y3Y»A " 63AUSTaRasUY»i 5129 232,500.0 - 232,500.0
2. Unpwidninbph uywuwnlydwl L 352,136.5 352,136.5 -
2hbwnpwnpwlwl wnph wnbnuihnfudwl
1363146446V Y»ii
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 352,136.5 352,136.5 -
3. I»A3I36406U3Y ~ 53 - 36U3Y 328,585.0 328,585.0 -
Gypnwuwlwl puwlyh wowlgnipjudp
CAZTI3Y36i40 §9A 3YC 1481 A3+4YV»AC
13637303y} 1A303RY4AN3ICY IA=3-Ch
(B3TICAZTT31 EC334AA0AIA6Y Y» 1)
- 2t ISEé»f 4861 328,585.0 328,585.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= g 3 uwh( Swiuubnh nGnbuwghiwywa = > G pyniot GnwihG pintob

w2 3| 5 A pinLebnwihb Swiuubinh L ughuinwiywl = Jupswlwl pntg $nlnwhh pynte

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|3 |4 5 6 7 8

4. Gdpnwuwiywl GEpnpntduyhl puwGyh 1,133,848.8 1,133,848.8 -
wowlygni pruid, wlwawgynn «Gpluwl
1480 A3+4YY»AC 1363i3A03Y} IA=3-CA
(B3TICAZTT31 EC334AA0AIA6YY» 1)
- 2t ISEé»f 4861 1,133,848.8 1,133,848.8 -
5. OTAAE3I3Y UCa6AIBY N3A""3Ya6AI3Y 2,073,989.5 2,073,989.5 -
GGpnpnLduyhl gnpdhph wowlgnipyudp
CAZI3Y36740 §9A "3YC 1481 A3+4YV»AC
I36373AU3Y} 1A3038Y4AN3ICY IAS-Ch
(B3TICAZTT31 EC334AA0AIA6Y Y»A)
- 2t ISEé»f 4861 2,073,989.5 2,073,989.5 -
6. 2A »H3Y CTAEA3IC ; V»h- BEY3a046AI3Y 518,497.3 518,497.3 -
L plwwwhwwlGwlwl gnpéplybpni ppulb
dnlnh wowlygnipwdp ppwlwlwgyny
§CA3YC T4BT A3+4YY»AC 1363 13/03Y}
1F3U3RYAAN3ICY [7A3-CA (B3 TCAZTT3T
EQ 2347404140 YY»H)
- 2t ISEé»f 4861 518,497.3 518,497.3 -
7. I»A313640003Y %3 - 36U3Y 1,133,848.8 1,133,848.8 -
bypnupwilywl pullih wowlgnpjudp
CAZTI3Y36740 §9A 3YC 1481 A3+4YV»AC
I36373AU3Y IA3-CAl (B31TICA3IT31
EQ 2347404140 YY»H)
- 2t ISEé»f 4861 1,133,848.8 1,133,848.8 -
8. «GpLwlh wnpwhwlnipinil L 4,554,982.8 4,539,642.8 15,340.0
E3YCT3AZI3Y U3uAdiut N303Ya3igy
NCUYZ3AT1C 83NE3YU3Y I3Eé»A
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 2,490,240.0 2,490,240.0 -
NS T»E3Tx3AY»A
- a3 -3 TRAUY»A, 1ABUST3Y EASEAiea0UY»A ° 4112 97,636.3 97,636.3 -
N3waT Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 7,104.0 7,104.0 -
- TaUasY3t 1=3é63la0AlasYY»i 4213 742,500.0 742,500.0 -
- T3AC 1363(a0AlasYY»fi 4214 1,500.0 1,500.0 -
- 233473 - A3T3Y I=Eé»i 4215 50,000.0 50,000.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 10,000.0 10,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 12,840.0 12,840.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 143,000.0 143,000.0 -
Yara- &l a3Nazvasl
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 8,000.0 8,000.0 -
- TASYEAART3ICY YiaoA»f 4264 800,000.0 800,000.0 -
- T»Y6303(CY " NSYASICY eYY1G YiaoA»f 4267 5,862.5 5,862.5 -
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=t ATai0
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIZ(»YA

E = 3 s »YA

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

-D3WAT YA 213y 3 YiasA»i 4269 169,710.0 169,710.0 -
- A3A31Ch Tx3AY»h 4823 250.0 250.0 -
- 13AE213Y 63A0=T4R4UY»A 5122 2,060.0 - 2,060.0
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 13,280.0 - 13,280.0

2520/ 05| 2 | 0 | T»073¢A»A¢ N»é3064iU 395,000.0 - 395,000.0
&RCo

2521|105 | 2 | 1 | T»003¢h»AC N»é=6450 395,000.0 - 395,000.0
31 ATa0
1. 2A3N»E630603Y 18040YCI36C4Y 63YO»AC 395,000.0 - 395,000.0
136406400
- b»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 395,000.0 - 395,000.0

2530/ 05| 3 | 0 |bAc3T3 UCc3T3IA¢ 30741 U3Y 10 &3I03A 38,683.0 38,683.0 -
&RCo

2531|105 | 3 | 1 |4x¢ 30wawU=3Y 1»0 &=30=A 38,683.0 38,683.0 -
31 ATa0
1. I»T»AC NAsY»A¢ U3uhidu 38,683.0 38,683.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 38,683.0 38,683.0 -

2560/ 05| 6 | 0 |bAc3T=3 UCc3 T3¢ &30 43Y40Al40Y (3IF 6,510,847.8 6,160,847.8 350,000.0
136»ACY 4431 T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13e»Acy 6,510,847.8 6,160,847.8 350,000.0
4A3T1=2Y40)
31 ATa0
1. T3Y34 73A310Y»A¢ NeUYasU 3,750,000.0 3,400,000.0 350,000.0
a3Na3vaoU
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 3,400,000.0 3,400,000.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
- TABYEAAA T 3(CY 63hu=Tanaiuy»h 5121 350,000.0 - 350,000.0
4. A3-+3640 I»Y13YCY»AC TY3E34»Al4iU 234,500.0 234,500.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 234,500.0 234,500.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
5. ©A3Y, 1 3AB3i3, TCA3Y3 2,245,914.0 2,245,914.0 -
U3IA303030Y»AC N303 - 4013 1040AI40YA
(13Y- 3747 A3+4YY»AC I26373AU3YY
36Y4ia0 AYIN3Ya6f U3AT3NAS i»AY»AC
Baoic SRE3U3YuY»AC CAZT3Y36460
- 2t ISEé»f 4861 2,245,914.0 2,245,914.0 -
6. ©A"3Y, T 3373, _TCA3Y3 280,433.8 280,433.8 -
U3IA3030303Y»A¢ N3U= - 4AT=31640Al40YA
(13Y-374A A3=4YY»AC I36313/0U3Y
36Y4ia0 AYIN3Ya6f U3AT3NAS i»AY»AC
Badhic 1A3U3BYAAN3ICY A3 -AC
N3U3yCY3Ye3idndil
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Snnh
I
Pwdhi
hunip

U

T

“laier W 3ICY TSEE»AC -anl=63T3Y 1363137 U3Y
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuutph tnbwnbuwghwnwyw

1363137 U3Y NALT3IV»AC SYT3YAUY»AA

Annywdh
MM

AY13U»YA

=t ATai0

Jwpswywl pjniot

$nlnwyhb pjniob

[y

N

w

5

7

8

- 2t [3Eeé»fi

4861

280,433.8

280,433.8

2600

06

~02T252020£0 PEUZ32520AUa00 ©1
TagasU=t 1262020A0a500°5

4,139,080.0

4,116,880.4

22,199.6

=t ATai0

2610

06

TYSIBABYICY BCY3ASAA0AIAY

5,000.0

5,000.0

anco’

2611

06

“YST3ASY3(CY RCY3ASAasAIasY

5,000.0

5,000.0

SEVE)

1. £YQY313U 1364006 Y»AC u3Y1460

5,000.0

5,000.0

- 2t [3Eeé»fi

4861

5,000.0

5,000.0

2640

06

640406 Y»AC E4663Fahaol

3,778,471.2

3,778,471.2

anco’

2641

06

6a04a6Y»AC Fase3Tanasl

3,778,471.2

3,778,471.2

=t ATai0

2. 2AT30CY F4663T4AA0AIZY 63Y6C
B3N3-4AIU3Y ~ §3N&3YU3Y
BRE3T3YuY»i

2,229,951.6

2,229,951.6

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

4511

2,229,951.6

2,229,951.6

3. I»A3136406U3Y ~ 437 - 36U3Y
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3TI3Y36i40 §°h"3YC u303u3icyY

[4063 T4A46AI3Y ! 1A3U3RYAAN3ICY IAS-CA
(B3TTICABIT3I EC334A40AI40YY»h)

134,928.6

134,928.6

- 2 [3Eeé»fi

4861

134,928.6

134,928.6

4. I»A3136400U3Y "~ %3i - 36U3Y
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3TI3Y36i40 §°h"3YC u303u3icY
(4063 T4A40AI3Y ]} TAZ3-CA (A3 TICA3TT3I

£ BUAAA0AIAGYY»F)

920,977.5

920,977.5

- 2t [3Eeé»fi

4861

920,977.5

920,977.5

5. 20 »H3Y CiAdd 3¢ ;Yr»i - SEY340404I3Y
L plwwwhwwlGwlwl gnpéplybpnippulb
Dnlnh wowlgnipiudp hpwlwlwgynn
8COA3YC u303u3ICY tajé3idnacAl3yY}
1A3U3RYAAN3ICY TAZ3-CA (B3 T ICA3SIT3I

£ BUAAA0AIAGY Y »F)

492,613.5

492,613.5

- 2t [3Eeé»fi

4861

492,613.5

492,613.5

2650

06

TYSISBASBYICY BCYSASAA0AIZY ~ T4U46Y3E
T36346AIacYY»AC - T&T N» 13341313y
YSEZ.[3gY 3BEZT3Y0Y»A

12,000.0

12,000.0

anco’
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e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9

2651|06| 5 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasy3t 12,000.0 - 12,000.0
1263[a0AlasYY»C - TAT > S%a 313y -
YSEZ. I3[0 SRE3T3YUY»h
31 ATa0
1. b»Ya»AC " BCYAGAIAGYY»AC N» T34 7 U3Y 12,000.0 - 12,000.0
BRE3T3Y0Y»A
- U3ES.- I3 3313y ISEé»i 5134 12,000.0 - 12,000.0

2660|06 | 6 | O | “YIISAIY3CY BCY3A3A40AI3Y  T4U46Y3¢ 343,608.8 333,409.2 10,199.6
T36340AlacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 343,608.8 333,409.2 10,199.6
1=3¢340Ala0YY»A (3l 13é»ACY a3 T3Y40)
31 ATa0
4. Puqilwplwluwpwl 26Gpbnh pwpblwnqdwl 10,199.6 - 10,199.6
3F 3RE3T3Y0Y»hA
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 10,199.6 - 10,199.6
5. @A3ICY I3640i6Y»AC B3N3-4AT460 308,000.0 308,000.0 -
a3Na3vaoU
- 2 I3Eé»h 4861 308,000.0 308,000.0 -
6. T3A63/31Y»iAC E3NE&3Y4iU 15,409.2 15,409.2 -
- 2[f AYA=6CT 1A3U3RYARANY»A 4639 15,409.2 15,409.2 -
7. T3U30A3Y0400Y»AC = 3IE BCYAGAIAGYY»AC 10,000.0 10,000.0 -
I»ASBYAAE - 40U ~ - 46Y3%3A1400
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 10,000.0 10,000.0 -
a=N&=vail

2700|070 | O 2gadz=2a2pacAlasy 464,840.0 11,500.0 453,340.0
31 ATa0

2710|107 | 1 | O | “ABI3I3Y 3&A3YaY»A, 63A0»A 203,340.0 - 203,340.0
E3A0374A400Y»A
&RCo

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&AASYOY»A 203,340.0 - 203,340.0
31 ATa0
1. 2640c3&3N3T13Y I3BU3I»A840AI40Y Y»AC 203,340.0 - 203,340.0
hwdwp pd>)Yuwlul ywppwynpn dGEph
dbrppbpnid
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 203,340.0 - 203,340.0

2760|07 | 6 | 0 | 2640c383Na0Al46Y (3IF 136»ACY 261,500.0 11,500.0 250,000.0

4
1&3113Y40)

anco’
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=t ATai0
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e aE 1383T37. USY N&LT3TV-AC 3V T3YAIUY»iA £ n Rn R RN

1 |23 |4 5 6 7 8 9

2761/ 07 | 6 | 1 |2é40c343(=3T3Y (3A=T1006 13¢3la0AlasYY» 261,500.0 11,500.0 250,000.0
IN3-A»A
=1 A4
1. Upnnowwwhwlwl opibyunlbbph 250,000.0 - 250,000.0
NeUY3Yana - 46U
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 250,000.0 - 250,000.0
2. ATSA3BU3War(C N> 344 W a6AlacYY»Ag 11,500.0 11,500.0 -
CASI3Y36460
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 11,500.0 11,500.0 -

2800/08|0 | 0 p2Uv£ET, @b2TaslA <1 Toalu 2,969,863.1 2,319,849.1 650,014.0
=1 A4

2810|108 | 1 | 0 |D3Y-67C ~ EQaNTC [363dsAlaoyy»i 751,842.0 171,842.0 580,000.0
afigo

281108 | 1 | 1 |D3Y-&WC " 6A4aAWC 1=263(a0AlasYY»f 751,842.0 171,842.0 580,000.0
=1 A4
1. 68471 3ICY UCcad36400Y»i¢ 58,000.0 58,000.0 -
I33U31»A840U
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 58,000.0 58,000.0 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 643,842.0 63,842.0 580,000.0
136466400 46 &3NE3Y4iU
- WY»fi-»WCT 1363{asAlasYY»h 4212 30,000.0 30,000.0 -
- TaU&sY3t 1=263{40Al46Y Y »fi 4213 8,000.0 8,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 25,842.0 25,842.0 -
- b»YU»fiG * RGYABAIAGYY»AC T3¢45645U 5112 550,000.0 - 550,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 30,000.0 - 30,000.0
3. O» I3YT3NA3E3A31C B3N3-4AT460U 50,000.0 50,000.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 50,000.0 50,000.0 -

2820|108 | 2 | 0 |@B3T140A3CY [3E3a0AIA6Y Vi 2,197,621.1 2,127,607.1 70,014.0
afigo

2821|08 | 2 | 1 |TASLI3AZYY»f 270,223.5 270,223.5 -
=1 A4
1. YAZ13[3Y3cY [SE3J40AlacYY»a 270,223.5 270,223.5 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 270,223.5 270,223.5 -
(R=20=lYU=ICY) T3%HUST»AAA0AIAYY»ACY

2822|108 | 2 | 2 |A3Y-3A3YY»f " 6406=26A=NY»A 331,602.6 321,602.6 10,000.0

=t ATai0
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=l “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

= = % E= 1= pwdhaltnh, fudptph L nwubph, hOswtu Gub E = AV130»YA

= g 3 uwh( Swiuubnh nGnbuwghiwywa = > G pyniot GnwihG pintob

w2 3| 5& RINLRGLLING dwfuuinh | ughuinwiyw( ez Junswywl prigh | $nlnwih pnee

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 213 |4 5 6 7 8 9

1. A3Y-3[A3Y3|cY [SE3J40AIa0YY»A 321,602.6 321,602.6 -
04063NZY1EV»ii
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 321,602.6 321,602.6 -
(R=0=IY0U=ICY) T3%UST»A&AE0AIA6YY»ACY
2. A3Y-3A3YY»AC Va4 - a6l 10,000.0 - 10,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 10,000.0 - 10,000.0

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 40,139.3 40,139.3 -
31 ATa0
1. D3U3Ya3lcY UBZTAGAC —~ 3y31 A3U3Yé¢ 40,139.3 40,139.3 -
I'33U3T1»A846U
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 40,139.3 40,139.3 -
(R=0=IYU=ICY) T3%UST»A&AE0AIA6YY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA40AIAYY»A 900,564.0 900,564.0 -
31 ATa0
1. PB3T40A3ICY UCcad3640UY»AC 598,000.0 598,000.0 -
CASI3Y36460
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 574,000.0 574,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 24,000.0 24,000.0 -
T3UUST»AAA0AIA0YY»ACY
2. YbGhnwiwpwlwlwl wigni 302,564.0 302,564.0 -
040031A40AI46Y Y»A
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 302,564.0 302,564.0 -
(NSUSIYUS3ICY) TSHUST»NAA0AIASYY»ACY

2825/08 | 2 | 5 |2A1»E&T 592,077.7 592,077.7 -
31 ATa0
1. CASABT3AI»E1C ~ &3A3SNi»é1¢ 136,806.4 136,806.4 -
N3U»A- Y»i
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 136,806.4 136,806.4 -
(NSUSIYU3ICY) TSHUST»RAA0AIASYY»ACY
2. AST»ASI3Y Y»Al3I36400Y»0 455,271.3 455,271.3 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 455,271.3 455,271.3 -
(NSUSIYUS3ICY) TSHUST»NAA0AIASYY»ACY

2827|108 | 2 | 7 |DaR3AO3YY»AC —~ URSTAIAZICY SAA»UY»AC 63,014.0 3,000.0 60,014.0
»A3T3Y-YaU - &a3(a=vaU
31 ATa0
1. DAGBBA0BYY»AC I»A3YaAs -ail 3,000.0 3,000.0 -
a3Na3vaoU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
a=N&=vail
2. 9D E» T 3I3Y N3E3A3I3I3Y YE3Y3idh 60,014.0 - 60,014.0
-dAICAY»ACY YICATZI NaoB303YY»A¢
CASI3Y36460
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=l “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

= = % E= 1= pwdhaltnh, fudptph L nwubph, hOswtu Gub E = AV130»YA

= g 3 uwh( Swiuubnh nGnbuwghiwywa = > G pyniot GnwihG pintob

w2 3 §5& pntiinhG Gwiuubinh L ughinwyw ez dunswywl pnigl | Hnlnuwyhl pynig

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

- b»YU»AC " RCYABAIAGYY»AC T3é456400 5112 15,008.0 - 15,008.0
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 45,006.0 - 45,006.0

2840|08| 4 | 0 | TAAY3I3Y ~ N3&63A31313Y 3 20,400.0 20,400.0 -
[36340Al46Y Y»A
Eli[el)

2843| 08| 4 | 3 | TARAYST3Y ~ N3&3AST3T3Y 3| 1363[40AI45YY»f 20,400.0 20,400.0 -
3 ATasu
1. 2Y13U31640A13Y ix3AY»A 20,400.0 20,400.0 -
- UTCA=T TasAlasyy»i 3 =flasld al>r=ay1a0 4819 20,400.0 20,400.0 -
T3UUST»AA40AIA0YY»ACY

2900(09| 0 | O ToAasAvasU 20,994,181.4 18,526,681.4 2,467,500.0
3 ATasu

2910(09 | 1 | 0 |USE318/46313Y =~ T3AAZ13Y AYIN3Ya61 8,292,209.4 8,142,209.4 150,000.0
TAA&0AI4sY
Ely[el)

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 345,026.2 195,026.2 150,000.0
3 ATasu
1. USE318A46313Y &46640646U 114,362.0 114,362.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,000.0 2,000.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 112,362.0 112,362.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. UBE315/406313Y 466460U3Y 200,000.0 50,000.0 150,000.0
I3BU31>A803Y N3U3A 3YNA3A»BT - 40/uC
dbrp pbpnid
- D=1 AT YAS31=(CY 3 YiasA»i 4269 50,000.0 50,000.0 -
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 150,000.0 - 150,000.0
3. UBE31587/46313Y IhA4cAlasy 30,664.2 30,664.2 -
(B3TICAZTT31 EC334AA0AIA6Y Y» 1)
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 30,664.2 30,664.2 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2912|109 | 1 | 2 | T3AAST3Y AV2N=Y46A TAAAGAIASY 7,947,183.2 7,947,183.2 -
3 ATasu
1. D3YASTAA3I3Y 466466460 7,947,183.2 7,947,183.2 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 7,947,183.2 7,947,183.2 -
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2920/09| 2 | 0 |@CcY3T=3i- AY2INZ3Yaon ThA&oAla0Y 9,223,621.3 9,223,621.3 -
Eli[el)
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

2921/ 09| 2 | 1 |BCUY=T3Y AY1N=Vasn TrA&oAlasY 8,968,737.7 8,968,737.7 -
31 ATa0
1. D3YASTAAZI3Y 406406400 8,968,737.7 8,968,737.7 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 8,968,737.7 8,968,737.7 -
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2922|109 | 2 | 2 |@CcY=2T=3f- (EACT) AYLN=YadA TAA&sAIATY 254,883.6 254,883.6 -
31 ATa0
1. D3YASTAAZI3Y 406406400 254,883.6 254,883.6 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 254,883.6 254,883.6 -
(R=U=(Y0=UCY) T3%UST»AAAE0AIAYY»ACY

2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363134 - 740 1,285,688.5 1,068,188.5 217,500.0
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR403T3Y 136 WC3A3TaoAlasY 1,285,688.5 1,068,188.5 217,500.0
31 ATa0
1. 2AT318A46313Y 138 1 C3A3140A146Y 927,679.5 927,679.5 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 62,070.0 62,070.0 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 865,609.5 865,609.5 -
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY
2. 2AT318746313Y 110,000.0 - 110,000.0
I'33U31»A840AI80Y Y»AC N3U3A SYNAZA»BT
qnyph dtrpp pbpnid
- 2[f U»U»Y3Y»ii * 63A03 TanasUY»h 5129 110,000.0 - 110,000.0
3. «<wlynp Yngmwly Yppwhwdwihn MNUY- 7,547.8 7,547.8 -
400 BATr318A406313Y 1361 C3AZ140AI3Y
I'33U=31»A8400 (A3 T ICAZTT3T
EQ 2347404140 YY»H)
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 7,547.8 7,547.8 -
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY
4. CASABT3I3Y ~ BAT»Eé ¢ 1&A46Y»Aail 132,961.2 132,961.2 -
3Y- 3oy FBASCY ~ =403CY YiZ - 3A3YY»AC
- T47T 406406460
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 132,961.2 132,961.2 -
5 2AT318A46313Y 107,500.0 - 107,500.0
13303 1»A840A146Y Y»AC NCUY3Yahd - al =~
I»A3Y4A4 - 46U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 107,500.0 - 107,500.0

2960|109 | 6 | 0 | TAA&OAIZYA TASU31AT40 GA3Y213T 2,192,662.2 92,662.2 2,100,000.0
1363464146V Y»i
&RCo
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=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA
c 3 =
w2 3| g2 pINLobWIhG dwiuutph nbunGuwghnwywl = Z Jwpswywh pneet | $nlnwihl pnuet
el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
2961|09 | 6 | 1 | TAA&AISYA wA3U31AT40 0A=Y13T 1=263(40Ala5YY»h 2,192,662.2 92,662.2 2,100,000.0
3 ATasu
1. UBE318(46313Y N36 131404146V Y»AC 2,100,000.0 - 2,100,000.0
NCUY3Y4iA4 - 46U "~ i»A3Y4MA4 - 46U
- b»YO»AC * BCYASAIAGYY»AC TSACT3E I»i=Vafa-4l | 5113 2,100,000.0 - 2,100,000.0
2. . 8A463I13YY»AC GECUAC313Y»AC ~ 3 55,000.0 55,000.0 -
UCcd63640UY»AC 13303 1»A8400
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 55,000.0 55,000.0 -
3. 2U»EU3T4AU3Y UCcA04T an31=3idndiu 37,662.2 37,662.2 -
BT 3631 406400CAY»ACY N3 InE3Ix3AY»AC
TASU317460 (A3TIiCASIT3T
EQ BUAAA0AIE6 W»ﬁz
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4637 37,662.2 37,662.2 -
N=2U=VaY»AC 43 3é izl
T3UUST»AAAE0AIA0YY»ACY
3000(10| 0 | O 6a0£2E2T20 a2pT1a=20a0Alacy 1,480,847.0 1,473,847.0 7,000.0
3 ATasu
3070(10| 7 | O | 846C3E3T13Y N3 &0l 3ATEYA0AI46YY»A (SIF 609,800.0 602,800.0 7,000.0
136»ACY 4431 T3Y40)
Eli[el)
3071[10| 7 | 1 |@a6C3E3T3Y N3l 3 wavasAlasyy»n (3 609,800.0 602,800.0 7,000.0
13¢»ACY 83T T3Y40)
3 ATasu
1. OA3Y 03030400 »A»E3Y»AC 34,500.0 27,500.0 7,000.0
B0C3E3I3Y 83T E3YA0AI3Y 4raA 146U
SALAGYSI» T 1363 T3AU3Y Y31 31471 Yan
N3UB131-C Y»A1AU3Y CAST3Y3646U
- ZREITIT3RC USBEY=-Cr3T3Y %3i- 36U3Y 4233 15,000.0 15,000.0 -
1363[a5Ala5YY»fi
- 2t [3Eeé»fi 4861 12,500.0 12,500.0 -
- T3S T3Y 63Au31aRa0UY»A 5122 7,000.0 - 7,000.0
2. 6pluwl hwiuylph pGwlhsabpp 89,000.0 89,000.0 -
YGGuwdwlywpnwyh pwpbwddwGl ninnywdé
YAST3I3ICY I[A3-A»Ac CAST3Y3640U
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 25,000.0 25,000.0 -
- 2t [3Eeé»fi 4861 64,000.0 64,000.0 -
3. D303 4AT31040AI3Y BAcZY3TY»AaiU 76,500.0 76,500.0 -
E40C3E3I3Y - AATAYI»A46AIZY ~
0»8Y»fi»046AI3Y IA3-A»AC CAZT3Y30640U
- 2t [3Eeé»fi 4861 76,500.0 76,500.0 -
4. Swppbp unghwywlwb fudpbph hwdwnp 96,500.0 96,500.0 -

O[3y N3U3JYuaol aA3113F 46C3E313Y
T136346AI46YY»AC 13303 1»A846U
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

[= 2 3 = »

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9

- 2t ISEé»f 4861 96,500.0 96,500.0 -
5. T3pUSB3i31, »ACT363A1 " 3| 96,500.0 96,500.0 -
[udpbphl wwinlwlbnn plwwlhplbphls
Sc31640Al46Y
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 7,500.0 7,500.0 -
- 2[f I=Eé»i 4861 89,000.0 89,000.0 -
6. D3f»YS13[0 = +3EET3I3Y 45,800.0 45,800.0 -
AYT3YCuY»AcY S¢c31646Ala6Y
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 21,000.0 21,000.0 -
- POwywpwOwihb Gwwuwnbbp pinuebihg 4728 10,800.0 10,800.0 -
- 2t ISEé»f 4861 14,000.0 14,000.0 -
7. 2AT3I3A- CASICx3IY»Adil ~ 171,000.0 171,000.0 -
YUBY31CE 3l 1»8u»Adsy 113Yac tAr3acY
CAZTICx3TY»Ado0 N3/ Yi31 3Y03Y6
AYT3YCUCY»icy 3¢c3164iAlasy
- 2t ISEé»f 4861 171,000.0 171,000.0 -

309010 | 9 | O |846C3E3T13Y &33BT A&3Ya0Al46Y (3IF 871,047.0 871,047.0 -
13»ACY 4831 T3Y40)
&RCo

3092|10| 9 | 2 |€46C3E3T3Y &3/ W ASVAAIRYA WA=3U31AT40 871,047.0 871,047.0 -
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
1. E» 1313y NCUY3ATY»AC = 692,352.0 692,352.0 -
I'33U31»A840A146Y Y»AC SRE3T40Y»AC
E40C33T13Y ~3A»Adi 343Naidil
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- W Gwwuinbbp pinuotihg 4729 692,352.0 692,352.0 -
2. 2640caiAI3Y 383N4T= - A46AI46Y 178,695.0 178,695.0 -
- 233473 - A3T3Y I=Eé»i 4215 178,695.0 178,695.0 -

3100(11|0 | O pEGU=2T=20U ~2A£00U°8£U a_ 28120 7,430,581.8 9,411,438.3 218,060.4

a2paséT20L0u uau _°s

31 ATa0

3110(11 | 1 | O | PP I3E37=3[a0AI3Y ~ N3U3YOY»AC 7,430,581.8 9,411,438.3 218,060.4
a3Naoe 13y yayr
&RCo

3112|11| 1 | 2 |PP R=3U=VaY»A¢ &=Nasenr=ICY yav 7,430,581.8 9,411,438.3 218,060.4
31 ATa0
- a=Nasew3(CY UCgaoY»fi 4891 7,430,581.8 7,212,521.4 218,060.4
-{wunyuwgntd wwhrunwhb $nlnhg $nlnuwhb pjniok X - 2,198,916.9 -
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P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=T 2

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K

2£260U02T 12832120 pdx2UE g=2éai

(N=%=f 1A3UY»RAT)

=l “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
= 2 £ 2 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet
a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 2,828,764.5 2,550,764.5 278,000.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 430,074.7 421,074.7 9,000.0
T12&20asAlas00°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 412,603.4 407,603.4 5,000.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 412,603.4 407,603.4 5,000.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 397,603.4 392,603.4 5,000.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 302,185.0 302,185.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 46,490.0 46,490.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 8,698.4 8,698.4 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 800.0 800.0 -
- T2AC 1363{a0AlasYY»h 4214 7,436.0 7,436.0 -
- 2330413 -A3T3Y I2E6»i 4215 410.0 410.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 300.0 300.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 400.0 400.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 200.0 200.0 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 500.0 500.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 4,500.0 4,500.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 3,000.0 3,000.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3| g2 pINLobWIhG dwiuutph nbunGuwghnwywl = Z Jwpswywh pneet | $nlnwihl pnuet

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 8,484.0 8,484.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,000.0 1,000.0 -
-D3WAT YA 213y 3 YiasA»i 4269 4,000.0 4,000.0 -
- A3AT31CA Tx3AY»f 4823 200.0 200.0 -
- 2 I3Eé»h 4861 2,000.0 2,000.0 -
- 13AE213Y 63A0=T4aRAUY»A 5122 5,000.0 - 5,000.0
2. duwpswlwlb opybyinGlinh hhoGwlnpngnid 15,000.0 15,000.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail

2130|101 | 3 | O |Lanhwlanmp plGniyph SwerwynipintGlGbGn 11,471.3 11,471.3 -
&RCo

213101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip plniyph 11,471.3 11,471.3 -
1363(40Ala0Y Y
31 ATa0
1. 303036C313Y 13640A13Y ST »AC 11,471.3 11,471.3 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I'33U=31»A8400 (A3 T iCAZTT3T
EQ 2347404140 YY»H)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 10,271.3 10,271.3 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 500.0 500.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 40.0 40.0 -
- T3AC 1363(apAlasYY»fi 4214 60.0 60.0 -
- 1 3AEST3Y 1363{a0Ala0Y Y»h 4231 90.0 90.0 -
- @HU»YRY»AC 6303 TARaiUY»AC AYA=6CT 4252 100.0 100.0 -
Yafia- &l &=N&=vail
- MA=E»YIST3ICY YiaoA»A ™ N=-a0ew 4261 300.0 300.0 -
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0 -
- A3AT31CA Tx3AY»f 4823 10.0 10.0 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 4,000.0 - 4,000.0
T36340AIacYY»AC - T&T N» 13341313y
YSE3.[3gY 3BEZT3Y0Y»A
&RCo

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 4,000.0 - 4,000.0
-TaT I rSwar313Y ~ Y3ES.- [3(¢Y
SRE3T3YUY»ii
31 ATa0
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
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=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pINLobWIhG dwiuutph nbunGuwghnwywl = Z Jwpswywh pneet | $nlnwihl pnuet
a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 (2|34 5 6 7 8 9
- USE=- 1213 r3T3Y [SEéxf 5134 4,000.0 - 4,000.0
2160|01| 6 | O |LanhwGnip pGniyph hwipughG ) 2,000.0 2,000.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco’
2161|101 | 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbGEn (wyg 2,000.0 2,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
1. _ CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,000.0 1,000.0 -
4A4RA0UY»AC ~~ TxCEY»AC I»l i»A3uYYCE =~
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3A31CA Tx3AY»h 4823 1,000.0 1,000.0 -
2. Qnyph Gyundwdp hpwyniGplbph 1,000.0 1,000.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3A31CA Tx3AY»h 4823 1,000.0 1,000.0 -
2200/02|0 | 0 azptazlasAlasy 2,000.0 2,000.0 -
3 ATasu
225002 | 5 | 0 |&3BUTE&3YaoAlasy (S 136»ACY 4831 T3Y40) 2,000.0 2,000.0 -
anco’
2251|102 | 5 | 1 |43k waA3VasAlasY (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
3 ATasu
1. %CYS 83U Y»AC N3BT36U3Y, 4aA=3144C, 2,000.0 2,000.0 -
BEASNZT30C ~ I3AAZT3Y N3 T30Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
2400|040 | 0 TUTeE2T20 252" 2520AUa000°s 240,426.4 205,426.4 35,000.0
3 ATasu
2450|104 | 5 | 0 | TA=YéA4AT 206,146.0 171,146.0 35,000.0
anco
2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 181,146.0 171,146.0 10,000.0
3 ATasu
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 106,146.0 106,146.0 -
" &3NE3YaU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 106,146.0 106,146.0 -
aszla=val
3. CYASO3A»AC T»A3Yan4 - 460 45,000.0 45,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 45,000.0 45,000.0 -

a=fa=vail
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= || 4 “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

8. F3ias0CY»Ac ~~ +a046Y»Ac 20,000.0 20,000.0 -
»A313640640U "~ NCUY3YAAE - 46U
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
11. A»u3N3AA31Y»A¢ 136406400 3,000.0 - 3,000.0
- b»YU»AC " RCYABAIAGYY»AC T3é456400 5112 3,000.0 - 3,000.0
13. 64046Y»AC, NABA3AZTY»AC ~ 3|-CY»Ac 7,000.0 - 7,000.0
1=3N=ianaoy
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 7,000.0 - 7,000.0

2455|04 | 5 | 5 |E&0ATST3R3A3(CY ~ 3 wASYe&anr 25,000.0 - 25,000.0
31 ATa0
1. I»»E3TY»AC NCUY3YAnAa - 46U 25,000.0 - 25,000.0
- 2[f U»U»Y3Y»ii * 63A03 TanasUY»h 5129 25,000.0 - 25,000.0

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 34,280.4 34,280.4 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 34,280.4 34,280.4 -
4A3T1=2Y40)
31 ATa0
9. A3AT31CA Ix3AY»AC - 3YOU3Y 4,195.4 4,195.4 -
I363J46A146YY»hA
- UTCA=T TanAlasyY»i 3 =flasld al»r=ay1a0 4819 4,195.4 4,195.4 -
T3UUST»AA40AIA0YY»ACY
11. T4Y3 T 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2[f I=Eé»h 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SBESTIYUY»AC CAZT3Y36400
- 2 I3Eé»h 4861 30,000.0 30,000.0 -

2600/06| 0 | O “02T282020£0 pEU262820A0a00 <1 410,500.0 176,500.0 234,000.0

TagasU=2t 12e=20a0A0a000°8

31 ATa0

266006 | 6 | 0 | “YSI3A3Y3CY BCY3AS[E0AIZY ~ 1aU40Y3¢ 410,500.0 176,500.0 234,000.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 410,500.0 176,500.0 234,000.0
1=3¢3{40AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwlwpwa 26GpGpH hwpp 55,000.0 55,000.0 -
T3YCUY»AC I»A3Yaha- a6l
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= g 3 uwh( Swiuubnh nGnbuwghiwywa = > G pyniot GnwihG pintob

w2 3 5 & RINLeGIUYNG dwiuutnh L ughinwyw ez Juinswlw pnigh | $nlnuwiht pintg

el =2 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

- P»YU»AC ~ T3840l6Y»AC AYAS6CT Yana- a0 4251 35,000.0 35,000.0 -
a=N&=vail
-D3TAT YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
2. Pwquiwplwlywpwl pGGpGph pbip 106,000.0 - 106,000.0
T3YCUY»AC I»A3Yaha- iU
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 106,000.0 - 106,000.0
3. “3I3cy T3A3Muy»ic 158,000.0 30,000.0 128,000.0
E303NA383A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 30,000.0 30,000.0 -
a=N&=vail
- b»YU»AC * BCYABAIASYY»AC TSACT3E I»Ai=Vafa-4U | 5113 120,000.0 - 120,000.0
- 2 U»U»Y3Y»i 3RS TafaslY»h 5129 8,000.0 - 8,000.0
4. Puqiwplwluwpwl ;6Gpbph pupbywnpgdwl 85,000.0 85,000.0 -
3F 3RE3T3Y0Y»hA
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 70,000.0 70,000.0 -
a=N&=vail
- Untpuhnhwlbp ny wbunwywl (ng hwdwybpuwyhl) ns 4521 15,000.0 15,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 6,500.0 6,500.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 6,500.0 6,500.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 239,327.4 239,327.4 -
31 ATa0

2810|08 | 1 | O |P3Y-67C ~ 684ATC IB6340AI45YY»h 25,300.0 25,300.0 -
&RCo

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aNNC 1363(40Al46YY»h 25,300.0 25,300.0 -
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 5,300.0 5,300.0 -
13303 1»A&a0U0
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 5,300.0 5,300.0 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 20,000.0 20,000.0 -
136400400 46 3N43YaoU
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail

2820|108 | 2 | O |@B3T120A3iCY [3E3a0AIa6Y Vi 214,027.4 214,027.4 -
&RCo

2821|108 2 | 1 |AZ13A3YY»A 71,000.7 71,000.7 -
31 ATa0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= 3 Euwh Swiuubinh nGnbuwghinwlw = G pnigt GnuihG pynLgts

w2 3| 5 A pinLebnwihb Swiuubinh L ughuinwiywl = Jupswlwl pntg $nlnwhh pynte

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|3 |4 5 6 7 8 9
1. TASIIA3Y3CY 136346446V Y» i 71,000.7 71,000.7
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 71,000.7 71,000.7
(N3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 112,135.8 112,135.8
31 AfaU°
1. 30330y UBZTAGIAC = 3331 A3U3Y6C 112,135.8 112,135.8
I'33031»A840U
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 112,135.8 112,135.8
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2824108 | 2 | 4 |2l URSTAASZICY T3HUST»AAAAIAGYY»A 17,246.0 17,246.0
31 Afa0°
1. PB3140A3ICY UCcad3640UY»AC 17,246.0 17,246.0
CASI3Y36460
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 13,000.0 13,000.0
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 4,246.0 4,246.0

2825/08| 2 | 5 |2AT»EW 13,644.9 13,644.9
3 AfaU°
1. CABABT3AI»ETC ~ A3ABAI»E1C 13,644.9 13,644.9
N3Ux»A - Y»i
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 13,644.9 13,644.9
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2900/09| 0 | O ToAabAUaU 1,408,309.2 1,408,309.2
3 AfaU°

2910(09 | 1 | 0 |UBE318A46313Y =~ T3AAZ13Y AYIN3Ya67 1,118,296.7 1,118,296.7
TAA&0AI4sY
anco’

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 1,118,296.7 1,118,296.7
3 AfaU°
1. USE315746313Y 406466460 1,118,296.7 1,118,296.7
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 1,118,296.7 1,118,296.7
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363134 - 740 290,012.5 290,012.5
TAA&0AI4sY
anco’

295109 | 5 | 1 |2AT31A/403T3Y 136 TC3A3TasAlasY 290,012.5 290,012.5
31 AfasU°
1. 2AT318A46313Y 138 1 C3A3140A146Y 290,012.5 290,012.5
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=t ATai0

= = oy ﬁ

E = % L= TRe= pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = AV YA

= c| 3 = AY13U»YA

2 3| c pintebunwihb dwiuubph tnbwnbuwghunwywb == Junswywb pinigt | $nlnuwyhl pjniok
L7] a Ec" 1mASTRA 113V f41 53 TVaA ST A =
E3131-U3Y NaTT31Y»AC 3YT3YaiUY»iA "
1 (2|34 5 6 7 8

- UntpuhnhwGbp ng $hOwbuwywl wtnwywb 4511 290,012.5 290,012.5
(N=3U3{YU=ICY) T3U%UST»AAA0AIAGY Y»ACY

3000{10| 0 | O €a0k=2E2T20 a42pT14a=20a0Alacy 98,126.8 98,126.8
3 ATasu

3030|10 | 3 | 0 |A=3A3ITCY 14A6A3T 3YOCYD 2,250.0 2,250.0
anco

3031[10| 3 | 1 |P3A3%=3WCY TaAoA=T 3YOCYU 2,250.0 2,250.0
3 ATasu
1. D3A3Y37 440Y»040 3Y03Y6 2,250.0 2,250.0
N&603AT=3i4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,250.0 2,250.0

3090(10| 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3 95,876.8 95,876.8
13»ACY 4831 T3Y40)
anco

3091 10| 9 | 1 |846C3E3TY &3RTASYAIAIATY (S 138»ACY 35,741.8 35,741.8
3A3T1=2Y40)
3 ATasu
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 35,741.8 35,741.8

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 35,025.1 35,025.1
N3 T»E2Tx3AY»A
- T3AC 1363(apAlasYY»fi 4214 350.0 350.0
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 316.7 316.7
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 50.0 50.0

3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAAIRYA WA=3U31AT40 60,135.0 60,135.0
0A3Y13T 1=363(40Al46YY»h (S 13é»AcY
4A3T1=2Y40)
3 ATasu
2. 2640caiAI3Y 383N4T= - A40AI46Y 60,135.0 60,135.0
- 2330413 -A3T3Y I2E6»i 4215 60,135.0 60,135.0
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P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=T 3

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K

2120 12632120 bdx2UE g2eai

(N=%=f 1A3UY»RAT)

=l “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
= 2 £ 2 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 1,307,931.5 1,207,131.5 100,800.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 340,975.3 334,675.3 6,300.0
T2e20a0A0a0U°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 329,902.0 326,802.0 3,100.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 329,902.0 326,802.0 3,100.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 327,902.0 324,802.0 3,100.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 241,839.0 241,839.0 -
N3 T»E2Tx3AY»A
- a3 "3 rhalY»f, 1ASU3T3Y EASEaieaUY»h 4112 37,206.0 37,206.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 15,500.0 15,500.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,000.0 1,000.0 -
- T3AC 1363(a0AlasYY»fi 4214 5,500.0 5,500.0 -
- 2330413 -A3T3Y I2E6»i 4215 400.0 400.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 180.0 180.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 100.0 100.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 3,500.0 3,500.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 2,667.0 2,667.0 -
- TASYEAAN T 3ICY YiaoA»f 4264 8,160.0 8,160.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,500.0 1,500.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

el =2 1363130-U3Y NaTT31Y»AC 3YT3YalUY»hA nc'
1 213 |4 5 6 7

-D3WAT YA 213y 3 YiasA»i 4269 4,000.0 4,000.0 -
- A3ATS31CA Tx3AY»0 4823 250.0 250.0 -
- 2[f T=Eé»h 4861 1,000.0 1,000.0 -
- T3EST3Y 63003 T1analY»h 5122 3,100.0 - 3,100.0
2. Ywpswlywl opyyuinlbph hhoGwGnpngnid 2,000.0 2,000.0 -
- P»YUsAC " T=6a0l6Y»iC AYA=6CT Yafia- a6l 4251 2,000.0 2,000.0 -
a=N&=vail

2130|101 | 3 | O |Lanhwlanp plGniyph SwrwynipintGlGGn 7,473.3 6,273.3 1,200.0
anco’

2131/01| 3|1 Uzruwmequdh /Yywnptnh/ gény pOnhwbnep pnyeh 7,473.3 6,273.3 1,200.0
1=3¢3{a0AlasY Y»h
31 ATa0
1. g303036C313Y 13640AI3Y STU»AC 7,473.3 6,273.3 1,200.0
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=3pU=31»A8400 (A3 1 TCAZIT31
EQ BYAAA0AIEGY Y» i)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 5,072.6 5,072.6 -
NS T»E3Tx3AY»A
- @HU»YRY»AC 6303 TARaiUY»AC AYA=6CT 4252 300.0 300.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-ase 4261 450.7 450.7 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoAx»f 4267 450.0 450.0 -
- T3EST3Y 63003 T1analY»h 5122 1,200.0 - 1,200.0

2150|101 | 5 | O |L4anhwGnip pGniyph hwlpughG 2,000.0 - 2,000.0
T36346AIacYY»AC - T4T N» T334 1313Y
YSES. [3gY SRE3T3YuY»A
anco’

2151)01| 5 | 1 |ROnhwGnip pGnyeh hwﬁanhU SwrwjnipintGbtph 2,000.0 - 2,000.0

-TAT N> 3BAT3T3Y ~ V3E=- 13y

SRE3T3YUY»ii
31 ATa0
1. USE3-I3cYy 3RE313YaY»A 2,000.0 - 2,000.0
- USES- I3 r3%ar313Y [SEé»h 5134 2,000.0 - 2,000.0

2160| 01| 6 | O |L4anhwGnip pGnyph hwipughG ) 1,600.0 1,600.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco’

2161|101 6 | 1 |COnhwGnip pnyph hwGpwihG wewnipintGatn (wi 1,600.0 1,600.0 -
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31 ATa0
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- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 1,000.0 1,000.0 -
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I3BU31>A8U3YY S¢c31040AI46Y
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2450|104 | 5 | 0 | TA=YéA4AT 91,043.0 87,043.0 4,000.0
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SRESTIYUY»AC CAZT3Y36400
- 2[f I=Eé»h 4861 10,000.0 10,000.0 -
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a=N&=vail
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TAA&0AI4sY
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2911|109 | 1 | 1 |U=E314R46=1T3Y TAA&AIATY 393,840.0 393,840.0
3 ATasu
1. USE318A46313Y 406406400 393,840.0 393,840.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 393,840.0 393,840.0
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 174,081.7 174,081.7
TAA&0AI4sY
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2951|109 | 5 | 1 [2AW31AR403T3Y 136 WC3A3TaoAlasY 174,081.7 174,081.7
3 ATasu
1. 2AT318A46313Y 138 1 C3A3140A146Y 174,081.7 174,081.7
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 174,081.7 174,081.7
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- 2RE=T1a0Y»AC SRESTST3A0»A 4111 417,040.0 417,040.0 -
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- WY»A-»wCT 1263[a0AIa5YY»f 4212 30,930.0 30,930.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 993.1 993.1 -
- T2AC 1363{a0AlasYY»h 4214 5,880.2 5,880.2 -
- 2330413 -A3T3Y I2E6»i 4215 450.0 450.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 280.0 280.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 360.0 360.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 303.5 303.5 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph w)| SwrwjnLpnLtGOEn 4239 900.0 900.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 1,513.0 1,513.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 8,000.0 8,000.0 -
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anco’
2251|102 | 5 | 1 |43k waA3VasAlasY (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %CY3E3ATY»AC N3BI36U3Y, $4A3T4AC, 2,000.0 2,000.0 -
BAA3N3T30¢ ~ I3AA313Y N3i730Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
2400104/ 0 | 0O TUTe82T20 252" 25a6AlaslUes 307,658.0 229,458.0 78,200.0
31 ATa0
2450|104 | 5 | 0 | TASBYEA4AT 267,573.0 189,373.0 78,200.0
anco
2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 250,493.0 189,293.0 61,200.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 114,993.0 114,993.0 -
" 43N&=3YaiU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 114,993.0 114,993.0 -
a=N&=vail
3. OUA303BA»AC I»A3YaN4 - 46U 30,000.0 30,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 30,000.0 30,000.0 -

a=fa=vail
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jwpswyw pniot | $nbnuwjhb pneet

=] = - N bl b St VLR

a| = 12E3T3R. U3V NG T TY»AC 3V T=VAUY»AA =
1 (2|34 5 6 7 8 9

4. D»Y3E3U»AC i»A3Y4A4- 40U 30,000.0 30,000.0 -
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 30,000.0 30,000.0 -
a=N&=vail
7. DASYIIY ICAXC ~ OA 3YV[3Y ExC 3,000.0 3,000.0 -
pwnbywpagnid
- Tal&sY3t 1=3é3{a0AlasyY»h 4213 2,000.0 2,000.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 1,000.0 1,000.0 -
a=N&=vail
8. @31[ai0CY»A¢C ~~ +~a046Y»Ac 61,200.0 - 61,200.0
I»A313640640U "~ NCUY3Y&AE - 46U
- P»YU»AC ~ BCYASAIASYY»AC T3645645U 5112 61,200.0 - 61,200.0
9. 64046Y»AC A3NE3YA6U » T B3N3-4AT400 10,000.0 10,000.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- a0 4251 10,000.0 10,000.0 -
a=N&=vail
11. A»u3N3AA31Y»A¢ 136406400 1,300.0 1,300.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 1,300.0 1,300.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wASYE 4R T 17,080.0 80.0 17,000.0
31 ATa0
1. I»A»E3TY»AC NCUY3YAnAa - 460 17,080.0 80.0 17,000.0
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 80.0 80.0 -
- 2[f U»U»Y3Y»ii * 63A03 TanasUY»h 5129 17,000.0 - 17,000.0

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbGpnipIN GGG (wy 40,085.0 40,085.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 40,085.0 40,085.0 -
4A3T1=2Y40)
31 ATa0
11. TAYST3x36Y»iC IB3UZT1»A840U0 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 40,000.0 40,000.0 -
SRESTIYUY»AC CAZT3Y36400
- 2t ISEé»f 4861 40,000.0 40,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa20asAlacy 13,336.9 8,336.9 5,000.0
31 ATa0

2520/ 05| 2 | 0 | T»073¢A»A¢ N»é3064iU 3,000.0 3,000.0 -

anco’
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=t ATai0
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

2521/ 05| 2 | 1 | T»003¢h»AC N»é=645U 3,000.0 3,000.0 -
31 Ara0"
1. 2(3N»636U3Y T4U46YCI=26C4Y 63Y6»AC 3,000.0 3,000.0 -
1=é4664s0
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
as3la=val

2560|05 | 6 | 0 | PAc3I= UCc3T3IAC &33BT E3Ya0AlasY (3l 10,336.9 5,336.9 5,000.0
13»ACY 4831 T3Y40)
ance’

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlasY (S 13e»Acy 10,336.9 5,336.9 5,000.0
A3TT=3Y40)
3 Ara0"
2. ZET3N3YU3Y " UCc3U3U»AlU3Y 4,736.9 4,736.9 -
36346440V Y /163 T CH30C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 4,736.9 4,736.9 -
3. PIEIA3I3I3Y 446 - SABYY»AC 5,600.0 600.0 5,000.0
83NE&3Y4a0U ~ i»A3Yaha- U
- Talasy=t 13¢3(apAlaoy Y»ii 4213 600.0 600.0 -
- b»YU»AC " RCYABAIAGYY»AC T3é45640U 5112 5,000.0 - 5,000.0

2600(06|0 | O 0212820200 pEU252820A0a0U ©1 364,100.0 188,000.0 176,100.0

TagaoU=t 12e20a6Alas0Uu°s

31 Ara0"

2660|06 | 6 | O | “YIISAIYICY BCYIA3A46AI3Y ~ T4U46Y3¢ 364,100.0 188,000.0 176,100.0
T36340AIa6YY»i (3lF 136»ACY 4831 T3Y40)
ance’

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3t 364,100.0 188,000.0 176,100.0
1=3¢3{a0Ala0YY»A (3l 13é»ACY a3 T3Y40)
3 Ara0"
1. Pwquiwplwlwpwa 2GGpGpH hwpp 30,000.0 30,000.0 -
T3YCuY»AC i»A3YaAa - 46U
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 30,000.0 30,000.0 -
azla=val
2. Puqudwplwluwpwl 26Gplph plip 84,000.0 9,000.0 75,000.0
T3YCUY»AC i»A3YaAa - 46U
-D3TA YAST3T3(CY 3 ViasA»h 4269 9,000.0 9,000.0 -
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 75,000.0 - 75,000.0
3. “3I3lcy TBA3Iay»Ac 151,100.0 50,000.0 101,100.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3N43vYaoU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 50,000.0 50,000.0 -

a=fa=vail
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIZ(»YA

E = 3 s »YA

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 |23 |4 5 6 7 8 9
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 70,000.0 - 70,000.0
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 31,100.0 - 31,100.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 85,000.0 85,000.0 -
3F 3RE3T3Y0Y»A
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 85,000.0 85,000.0 -
a=N&=vail
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 14,000.0 14,000.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 14,000.0 14,000.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 68,098.1 61,098.1 7,000.0
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~ER4ATC I363/40AI46YY»A 14,714.3 7,714.3 7,000.0
&RCo

2811/08| 1 | 1 |[D3Y-&WwC ~ eAaRWC I363(40Al46YY»h 14,714.3 7,714.3 7,000.0
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 7,714.3 7,714.3 -
13303178400
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 7,714.3 7,714.3 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 7,000.0 - 7,000.0
136400400 46 3N43Ya0U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 7,000.0 - 7,000.0

2820|108 | 2 | O |@B3T120A3iCY [3E3a0AIa6Y Vi 53,383.8 53,383.8 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 18,703.8 18,703.8 -
31 ATa0
1. TASI3[3Y3cY [363a0AladyY Yy 18,703.8 18,703.8 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 18,703.8 18,703.8 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2824108 | 2 | 4 |2l URSTAASZICY T3KUST»AA4&AIAGYY»A 34,680.0 34,680.0 -
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 34,680.0 34,680.0 -
CASI3Y3646U
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 31,930.0 31,930.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 2,750.0 2,750.0 -

2900/09| 0 | O ToAabAUaU 1,206,641.6 1,206,641.6 -

=t ATai0
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=t ATai0
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 |23 |4 5 6 7 8

2910|109 | 1 | 0 |UBE318A406313Y = T3AAST3Y AYIN3Y461 769,702.8 769,702.8
TAA&oAl46Y
&RCo

2911|109 | 1 | 1 |U=E314A46=3T3Y TRA&AIATY 769,702.8 769,702.8
31 ATa0
1. USE318A46313Y 406406400 769,702.8 769,702.8
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 769,702.8 769,702.8
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363134 - 740 436,938.8 436,938.8
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR403T3Y 136 WC3A3TaoAlasY 436,938.8 436,938.8
31 ATa0
1. 2ZAT318A46313Y 1361 C3A3140AlaoY 436,938.8 436,938.8
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 436,938.8 436,938.8
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 95,956.3 95,956.3
31 ATa0

3030(10 | 3 | 0 |P3A3B3TCY 14A6AZT 3YOCYU 764.0 764.0
&RCo

3031| 10| 3 | 1 |P3AS%L3TCY Tanoi=1 3Y0CYu 764.0 764.0
31 ATa0
1. D3A3Y37 440Y»040 3Y03Y6 764.0 764.0
N&603AT3i4A40AI3Y 13303 1»A840U0
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 764.0 764.0

3090(10 | 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3 95,192.3 95,192.3
13»ACY 4831 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3TY &3RTASYAIAIAIY (S 138»ACY 45,260.3 45,260.3
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 45,260.3 45,260.3
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AIa0YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 44,120.7 44,120.7
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 491.5 491.5
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 28.6 28.6
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

@ 2 3 5 = pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

o 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

- T2AC 1363{a0AlasYY»h 4214 269.0 269.0
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 300.0 300.0
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 50.5 50.5

3092 10| 9 | 2 |846C3E3T3Y A3 T ASYAAIBYA TH3U31AT40 49,932.0 49,932.0
0A3Y13T 1363(40Al40YY»h (S 13e»AcY
&3TT=3Y40)
31 Ara0"
2. 2640c40AI=Y 383N4T3 - 4oAlasY 49,932.0 49,932.0
- 283413 -A3T3Y I3Eé»A 4215 49,932.0 49,932.0

80




PD3»Ei=317
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U ananusy
20/466=15

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K
1A2poU 128a2T20 bde2Uk g2éai

(N=%=f 1A3UY»RAT)

= || 4 “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

w2 3| E cﬂ_ pnLebnwih( dwiuubnh wlntuwghinwywl == Jwnswywl pynigt | pnlnuwyht pnigt

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 1,371,801.5 1,204,101.5 167,700.0
2100(01| 0 | O AU _p=20a06 ~UasUAL p2Us=2040 277,303.5 267,603.5 9,700.0
T2e20a0A0a0U°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 274,003.5 266,303.5 7,700.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 274,003.5 266,303.5 7,700.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 271,003.5 263,303.5 7,700.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 195,299.0 195,299.0 -
N3 T»E2Tx3AY»A
- a3 3rRalY»i, 1ASUST3Y EASEajeailY»h 4112 30,046.0 30,046.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 8,550.6 8,550.6 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 850.0 850.0 -
- T2AC 1363{a0AlasYY»h 4214 7,750.0 7,750.0 -
- 2330413 -A3T3Y I2E6»i 4215 250.0 250.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 220.0 220.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 120.0 120.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 1,500.0 1,500.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 3,250.0 3,250.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoe 4261 1,170.3 1,170.3 -
- TASYEAAN T 3ICY YiaoA»f 4264 5,276.1 5,276.1 -
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e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8

- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 1,921.5 1,921.5 -
-D3WAT YA 213y 3 YidsA»i 4269 3,000.0 3,000.0 -
- A3A31Ch Tx3AY»h 4823 100.0 100.0 -
- 2[f I=Eé»h 4861 2,000.0 2,000.0 -
- T 3EST3Y 6303 TanaiUY»h 5122 7,700.0 - 7,700.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 3,000.0 3,000.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
a=N&=vail

2150|101 | 5 | O |LanhwGnip pGniyph hwipughG 2,000.0 - 2,000.0
T36340AIacYY»AC - T&T N» T3%41313Y
YSE3.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp panyph hwapwihb SwewinienLbGbtnh 2,000.0 - 2,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 2,000.0 - 2,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 2,000.0 - 2,000.0

2160| 01| 6 | O |L4anhwGnip pGnyph hwipughG 3 1,300.0 1,300.0 -
T36340AIacYY»i (3IF 136»AcY 483 113Y40)
anco’

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbGEn (wyg 1,300.0 1,300.0 -
13¢»ACY 83T 13Y40)
3 ATasu
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 800.0 800.0 -
4AABRAOUY»AC ~~ TxCEY»AC I»l i»A3uYYCE =~
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3A31CA Tx3AY»h 4823 800.0 800.0 -
2. Qnyph Gyundwdp hpwyniGplbph 500.0 500.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3A31CH Tx3AY»h 4823 500.0 500.0 -

2200/02|0 | 0 a=2pta=0asAlacy 650.0 650.0 -
3 ATasu

2250| 02| 5 | 0 |&3BU&3YAdAla6Y (3IF 136»ACY 4831 T3Y40) 650.0 650.0 -
anco

2251|102 | 5 | 1 |a3pwa=3YasAlay (3 136»fiCY aa3wT3Y40) 650.0 650.0 -
3 ATasu
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pintebiinuhh dwiuubph inbGuinbuwghunwywb == Jwnswywl pnigt | dnlnwihl pyniet

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

1. %CYS 83U Y»AC N3BT36U3Y, $aA=3144C, 650.0 650.0 -
BaAASN3T30C ~~ BAA3I3Y N3T30Y»Ac
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 650.0 650.0 -

2400/04|0 | 0 TUTeE2T20 p2582" 2520AUa000°s 118,514.0 110,514.0 8,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 98,429.0 90,429.0 8,000.0
anco

2451|104 | 5 | 1 |O=Y=243AN3(CY wTA=YeQan T 90,429.0 90,429.0 -
31 ATa0
1. Uupuwyin-pbunnlyw swdlyh Ybpwlnpngnid 34,929.0 34,929.0 -
 83NE3YaiU
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 34,929.0 34,929.0 -
a=N&=vail
3. CYASO3A»AC T»A3YaN4 - 460 40,000.0 40,000.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 40,000.0 40,000.0 -
a=N&=vail
4. D»Y3E3U»AC i»A3YaAa - 46U 10,000.0 10,000.0 -
- P»YU»AC  T2840l6Y»AC AYAS36CT Yana- aU 4251 10,000.0 10,000.0 -
a=N&=vail
8. I3ias0CY»Ac ~~ +a046Y»Ac 5,500.0 5,500.0 -
I»A313640640U "~ NCUY3Y&AE - 46U
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 5,500.0 5,500.0 -
a=N&=vail

2455|04 | 5 | 5 |E&Q0AT3T3R3A3(CY ~ 3 wASYelanr 8,000.0 - 8,000.0
31 ATa0
1. T»A»E31Y»Ac NCUY3Y4A4 - 46U 8,000.0 - 8,000.0
- Z[E U»U»Y3Y»ii " 63A03 TanailY»h 5129 8,000.0 - 8,000.0

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 20,085.0 20,085.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnninLtGbEn (wy nwubph 20,085.0 20,085.0 -
4A3T1=2Y40)
31 ATa0
11. TAY3 I 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2[f I=Eé»h 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 20,000.0 20,000.0 -

BRES3T3YOY»AC CAZI3Y30640U
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jw O ] O O ]

o = Gunwjpl gwuutinh L ughuniywli nswywl pnigt | dnlnuyhh pinty

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =

1 |23 |4 5 6 7 8 9
- 2 I3Eé»h 4861 20,000.0 20,000.0 -

2600(06|0 | O 02128202040 pEU252820A0a0U ©1 255,000.0 105,000.0 150,000.0

TagaoU=2t 12e20a6Alas0U0°s

3t Ata0

266006 | 6 | 0 | “YSI3A3Y3CY BCYSAS[E0AIZY ~ 1aU40Y3¢ 255,000.0 105,000.0 150,000.0
T36340AIa6YY»i (3lF 136»ACY 4831T3Y40)
ance’

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 255,000.0 105,000.0 150,000.0
1=3¢3{a0Ala0YY»A (Sl 13é»ACY a&3TT3Y40)
3t Atal
1. Pwquiwplwlwpwa 26GpGpH hwpp 30,000.0 30,000.0 -
T3YCuY»AC i»A3YaAa - 4ol
- P»YU»AG " T36406Y»AC AYA=6CT Yafa- aiU 4251 30,000.0 30,000.0 -
azla=val
3. “3I3lcy TBA3I0y»Ac 170,000.0 20,000.0 150,000.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3N43vYaou
- Untpuhnhwbp ng wewnwywb (ng hwdwOpuwihb) ng 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 120,000.0 - 120,000.0
- 2 U»U»Y3Y»h " 63AUS TaRaiUY»h 5129 30,000.0 - 30,000.0
4. Puqilwplwluwpwl p6Gpbnh pwnpbliwnqdwl 55,000.0 55,000.0 -
3 BREST3Y0Y»A
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 55,000.0 55,000.0 -
azla=val

2800(08|0 | O P2UT£ET, @b=TaslA <1 Tdau 33,729.3 33,729.3 -
3t Ata0

281008 | 1 | O |A3Y-EW¢ ~ 84ATC I363a0AI46YY»A 5,000.0 5,000.0 -
ance’

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aRNC 1363(40Al40YY»h 5,000.0 5,000.0 -
3t Ata0
1. 884AT3ICY UCca6=3645UY»AC 5,000.0 5,000.0 -
I 3303178400
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 5,000.0 5,000.0 -

2820|108 | 2 | O |@B3T120A3iCY [3E3a0AIa6Y Vi 28,729.3 28,729.3 -
ance’

2821|08 | 2 | 1 |TASLI3AZYY»f 13,629.3 13,629.3 -
3t Ata0
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= g 3 unwihl dwiuutkiph tnGnbuwghinwlw = 0 pnLot GnuwihG pinLgt

w2 3 5 & RINLeGIUYNG dwiuutnh L ughinwyw ez Juinswlw pnigh | $nlnuwiht pintg

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|3 |4 5 6 7 8
1. TASIIA3Y3CY 136346446V Y» i 13,629.3 13,629.3
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 13,629.3 13,629.3
(N3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282408 | 2 | 4 |2k URSTAASICY T3S T»AAA0AIATYY» 15,100.0 15,100.0
31 AT460"
1. DBZTE0A3ICY UCcA63E400Y»AC 15,100.0 15,100.0
CASI3Y36460
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 13,100.0 13,100.0
- T»Y6303(CY " N3YASICY 8YY1C YiasA»f 4267 2,000.0 2,000.0

2900/09| 0 | O ToAabAUaU 644,880.8 644,880.8
3 ATasu

2910|109 | 1 | 0 |UBE318A406=313Y =~ T3AAST3Y AYIN3Y461 468,909.6 468,909.6
TAA&0AI4sY
anco

2911|109 | 1 | 1 |U=E314A46=31T3Y TAA&AIASY 468,909.6 468,909.6
3 ATasu
1. USE318A46313Y 406406400 468,909.6 468,909.6
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 468,909.6 468,909.6
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 175,971.2 175,971.2
TAA&0AI4sY
anco

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 175,971.2 175,971.2
3 ATasu
1. 2AT3187A46313Y 136 1 C3A3140A146Y 175,971.2 175,971.2
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 175,971.2 175,971.2
(N3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 a2pT1a=20a0Alacy 41,723.9 41,723.9
3 ATasu

3030(10| 3 | 0 |A3A3U3UCY 1aA6A3T 3YOCYD 1,000.0 1,000.0
anco

3031 10| 3 | 1 |P3ASKL3WCY TaA6AZT 3YOCYU 1,000.0 1,000.0
3 ATasu
1. D3A3Y37 446Y»040 3Y03Y6 1,000.0 1,000.0
N&sO3AT13 iaAaoAi3y 13303 1»A8400
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0
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= || 4 “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA
c 3 =
w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9
309010 0 | éas6Cc3F313y 5337'33%64(/‘&5)7 (3IE 40,723.9 40,723.9
13E»fACY 4a31T3Y40)
&RCo
3091 10| 9 | 1 |846C3E3T3Y &3RTASYAIAIATY (S 138»ACY 18,208.9 18,208.9
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 18,208.9 18,208.9
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI20YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 17,992.7 17,992.7
N3 T»E2Tx3AY»A
- T2AC 1363{a0AlasYY»h 4214 90.0 90.0
- MA=E»YIST3ICY YiaoA»f ™ N=- 408w 4261 126.2 126.2
3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=3U31AT40 22,515.0 22,515.0
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 22,515.0 22,515.0
- 283413 -A3T3Y I3Eé»A 4215 22,515.0 22,515.0
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P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=T 6

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K

%52~ a0UE 12842120 bde2UL g=2eai

(N=%=f 1A3UY»RAT)

=l “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

= 2 £ 2 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUnYA

= £ 3 0 swfuutinh winbuwghnwlw - 0 pyniot GnuihG pynLgts

2 3| E2 pnLobwhG dwiuutph i ughinwywb ==z Jwnswywb pynigt | pnlnwyihb pnig

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 2,290,949.2 2,009,972.3 280,976.9
2100(01| 0 | O AU _p=20a06 ~UasUAL p2Us=2040 453,685.0 434,807.1 18,877.9
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 435,213.7 421,335.8 13,877.9
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 435,213.7 421,335.8 13,877.9
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 423,859.8 421,335.8 2,524.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 312,949.0 312,949.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 48,146.0 48,146.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 18,262.6 18,262.6 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 2,467.0 2,467.0 -
- T2AC 1363{a0AlasYY»h 4214 9,437.0 9,437.0 -
- 2330413 -A3T3Y I2E6»i 4215 400.0 400.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 123.0 123.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 370.0 370.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 2,328.0 2,328.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 3,640.0 3,640.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,984.5 3,984.5 -
- TASYEAAN T 3ICY YiaoA»f 4264 8,796.9 8,796.9 -
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8

- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 2,189.8 2,189.8 -
-D3WAT YA 213y 3 YidsA»i 4269 4,100.0 4,100.0 -
- A3A31Ch Tx3AY»h 4823 142.0 142.0 -
- 2[f I=Eé»h 4861 2,000.0 2,000.0 -
- T 3EST3Y 6303 TanaiUY»h 5122 2,524.0 - 2,524.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 11,353.9 - 11,353.9
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 11,353.9 - 11,353.9

2130|01| 3 | O |Lanhwlanip plGnyph SwrwynipintGlGGn 11,471.3 11,471.3 -
anco

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 11,471.3 11,471.3 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST1»AC 11,471.3 11,471.3 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=pU31»A8400 (A3 1 TCAZIT31
EQ BYAAA0AIEGY Y1)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 10,083.4 10,083.4 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 700.0 700.0 -
- T2AC 1363{a0AlasYY»h 4214 417.3 417.3 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 84.0 84.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 177.5 177.5 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwipuyghG 5,000.0 - 5,000.0
T36346AIacYY»AC - T&T N» T3%41313Y
YSEZ.[3gY 3BEZT3Y0Y»A
anco

2151|101 | 5 | 1 |COnhwOntp panyph hwapwihb SwewinienLbbtnh 5,000.0 - 5,000.0
-TAT N> 03BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 AT460"
1. USE3-[3cY SRE3T13Y0Y»i 5,000.0 - 5,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 5,000.0 - 5,000.0

2160|01| 6 | O |LanhwGnip pGniyph hwlpuyghG ) 2,000.0 2,000.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 2,000.0 2,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8 9

1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,000.0 1,000.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 1,000.0 1,000.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» 13T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3AT31CA Tx3AY»f 4823 1,000.0 1,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 1,000.0 1,000.0 -
31 ATa0

2250| 02| 5 | O |&3BU&3YadAla6Y (3IF 136»ACY 4831 T3Y40) 1,000.0 1,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 1,000.0 1,000.0 -
31 ATa0
1. %CYS 83U Y»AC N3BT36U3Y, $aA=3144C, 1,000.0 1,000.0 -
BaASN3T30C ~ 2AA3I3Y N3T30Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 207,369.0 171,402.0 35,967.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 177,284.0 141,317.0 35,967.0
anco

2451|104 | 5 | 1 |O=Y=2&3AN3(CY wTAZYeQanT 151,652.0 141,317.0 10,335.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 106,317.0 106,317.0 -
- &3NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 106,317.0 106,317.0 -
a=N&=vail
3. CYASO3A»AC T»A3Yah4 - 460 10,000.0 10,000.0 -
- P»YU»AC  T2840l6Y»AC AYAS36CT Yana- aU 4251 10,000.0 10,000.0 -
a=N&=vail
4. D»Y3E3U»AC i»A3YaAa - 46U 10,000.0 10,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 10,000.0 10,000.0 -
a=N&=vail
8. @31[ai0CY»A¢C ~~ +~a046Y»Ac 23,107.0 15,000.0 8,107.0
I»A313640640U "~ NCUY3Y&AE - 46U
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -

a=fa=vail
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 8,107.0 - 8,107.0
11. A»u3N3AA3TY»AC 136406400 2,228.0 - 2,228.0
- b»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 2,228.0 - 2,228.0
2455| 04 | 5 | 5 |E&A0ATST3R3AZICY * 3 wA3YE 4R T 25,632.0 - 25,632.0
31 Ara0"
1. I»»E3TY»AC NCUY3YARAa - 46U 25,632.0 - 25,632.0
- 2[E U»U»Y3Y»h " 63AUS TaRaiUY»h 5129 25,632.0 - 25,632.0
2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbGpnipIN GGG (wy 30,085.0 30,085.0 -
13»ACY 4831 T3Y40)
&RCo
2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipntGbEn (wy nwubph 30,085.0 30,085.0 -
&3TT=3v40)
3 Ara0"
11. TAY3T3x36Y»AC I3BU31»A8400 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SRESTIYUY»AC CAZT3Y36400
- 2k I=Eé»i 4861 30,000.0 30,000.0 -
2500/05| 0 | O pdx2T2 GA=21208f a42pTa20asAlacy 8,300.0 8,300.0 -
31 Ara0"
2560|05 | 6 | 0 | PAC3I= UCc3T3IAC &33BT E3Ya0AlasY (3l 8,300.0 8,300.0 -
136»ACY 4431 T3Y40)
&RCo
2561| 05| 6 | 1 |PA¢3T3 UCc3T3IAC A3RTASYAAIATY (3 136xACY 8,300.0 8,300.0 -
A3TT=3Y40)
3 Ara0"
2. ZET3N3YU3Y ~ UCc3U3U»AlU3Y 5,500.0 5,500.0 -
I363J40AIA0Y Y»ii /1»63 T CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,500.0 5,500.0 -
3. PIEIA3I3I3Y 446 - SABYY»AC 2,800.0 2,800.0 -
&3NE3Y40U ~ i»A3Yand - 46U
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 2,800.0 2,800.0 -
2600/06| 0 | O “02T2582020£0 pEU262820A0a00 <1 448,576.9 241,444.9 207,132.0
TagasU=2t 12e=20a0A0a000°8
31 Ara0"
266006 | 6 | 0 | “YSI3A3Y3CY BCY3AS[E0AIZY ~ 1aU40Y3¢ 448,576.9 241,444.9 207,132.0
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
&RCo
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 448,576.9 241,444.9 207,132.0
1=3¢340Ala0YY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwlwpwa 26GpGpH hwpp 62,750.9 62,750.9 -
T3YCuY»AC i»A3YaAa - 4ol
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 62,750.9 62,750.9 -
a=3la=val
2. Puqdwplwluwnwb ;6Gpkph pbp 130,000.0 20,000.0 110,000.0
T3YCUY»AC i»A3YaAa - aiU
-D3TAT YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 110,000.0 - 110,000.0
3. “3IBlcy TBA3Iay»Ac 112,132.0 15,000.0 97,132.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3N43vYaoU
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ns 4521 15,000.0 15,000.0 -
YCY3YE3T3Y T3%UST»A&40AIA0YY»ACY
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 84,132.0 - 84,132.0
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 13,000.0 - 13,000.0
4. Puqulwplwluwpwl 26Gpbnh pwnpblwnqdwl 134,094.0 134,094.0 -
3 BBE3T3Y0Y»A
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 134,094.0 134,094.0 -
aszla=val
8. Ypwnuyhl wunyquidplbiph Gnpngnid 9,600.0 9,600.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 9,600.0 9,600.0 -
azla=val

2800(08|0 | O p=20v£eT, @p2TaolA i Taal 133,943.4 133,943.4 -
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~ER4ATC I36340AI46YY»A 4,184.0 4,184.0 -
ance’

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aRNC 1363(40Al40YY»h 4,184.0 4,184.0 -
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 4,184.0 4,184.0 -
I 3303178400
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 4,184.0 4,184.0 -

2820|08 | 2 | O | @B3T146A3IcY I36346AI46YY»A 129,759.4 129,759.4 -
ance’

2821|08 | 2 | 1 |TASLI3AZYY»f 39,739.8 39,739.8 -
31 ATa0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jwpswyw pniot | $nbnuwjhb pneet

o &= - Noalivtrs bbbl bbbty DA

a2 I3E3T31-U3Y NATT3IY»AC 3YT3YAUY»AA e
1 |23 |4 5 6 7 8 9

1. TASI3[A3YICY [S63IaoAIacYY»i 39,739.8 39,739.8 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 39,739.8 39,739.8 -
(R=0=IY0U=UCY) T3%UST»A&A0AIA6YY»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 54,839.6 54,839.6 -
31 ATa0
1. D3U3Ya3icY UBZTAGAC ~ 3y31 A3U3Y6¢ 54,839.6 54,839.6 -
13303178400
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 54,839.6 54,839.6 -
(R=0=IYU=UCY) T3%UST»A&A0AIA6YY»ACY

282408 | 2 | 4 |2k URSBTAASICY T3S T»AAA0AIATYY» 32,180.0 32,180.0 -
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 32,180.0 32,180.0 -
CASI3Y3646U
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 29,100.0 29,100.0 -
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 3,080.0 3,080.0 -

2827|108 | 2 | 7 |DaR3A03YY»AC ~~ URSTAIAZICY SAA»UY»AC 3,000.0 3,000.0 -
»A3T3Y-YalU - &a3(a&=vaU
31 ATa0
1. DAGBZ3A0ZYY»AC I»A=Yaia -4l 3,000.0 3,000.0 -
a3N43vYaou
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
aszla=val

2900/09| 0 | O ToAabAUaU 960,510.3 941,510.3 19,000.0
31 ATa0

2910(09 | 1 | 0 |USE318A46313Y =~ T3AAZ13Y AYIN3Ya67 671,850.0 671,850.0 -
TrdaoAiasy
anco’

2911|109 | 1 | 1 |U=SE=14046=T3Y TiAasAlasy 671,850.0 671,850.0 -
31 ATa0
1. UBE315040=13Y 466400400 671,850.0 671,850.0 -
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 671,850.0 671,850.0 -
(R=0=IY0U=ICY) T3%UST»A&AE0AIE6YY»ACY

2950(09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 269,660.3 269,660.3 -
TrdaoAiasy
anco’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 269,660.3 269,660.3 -
31 ATa0
1. 2ZAT313A46313Y 1361 C3A=3140AlaoY 269,660.3 269,660.3 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

[= 2 3 = »

2 3| c pintebunwihb dwiuubph tnbwnbuwghunwywb == Junswywb pinigt | $nlnuwyhl pjniok
Ler) e | ot a NI — - AL B
o 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9

- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 269,660.3 269,660.3 -
(N=3U3{YU=ICY) T3U%UST»AAA0AIAGY Y»ACY

2960|109 | 6 | 0 | TAA&0AIZYA TASU31AT40 GA3Y213T 19,000.0 - 19,000.0
T36346A146YY»i
&RCo

2961/ 09| 6 | 1 |TAA&AIBYA wA=U=31iT40 0ASYL3T 1=263(40Al40YY»fi 19,000.0 - 19,000.0
31 ATa0
1. UBE318A46313Y N3 131 40AI46YY»AC 19,000.0 - 19,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»Ai=Vafa-aU | 5113 19,000.0 - 19,000.0

3000(10|0 | O €a0k=2E2T20 a42pT1a=20a0Alacy 77,564.6 77,564.6 -
31 ATa0

3030(10| 3 | 0 |A3A3H3UCY 1aA6A3T 3YOCYD 1,500.0 1,500.0 -
&RCo

303110 | 3 | 1 |D3ABL3WCY TaR6AZT 3YOCYU 1,500.0 1,500.0 -
31 ATa0
1. D3A3Y37 440Y»640 3Y03Y6 1,500.0 1,500.0 -
N&603AT=3i4A40AI3Y 13303 1»A8400
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -

3090(10 | 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3IF 76,064.6 76,064.6 -
13»ACY 4831 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y A3 W ASVAAIAY (3l 13e»AcY 34,112.6 34,112.6 -
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 34,112.6 34,112.6 -

- 4AT40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI20YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 31,866.2 31,866.2 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 788.1 788.1 -
- T2AC 1363{a0AlasYY»h 4214 159.4 159.4 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 1,200.0 1,200.0 -
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 79.7 79.7 -
- A3A31Ch Tx3AY»h 4823 19.2 19.2 -

3092| 10| 9 | 2 |846C3HE3T3Y &3 TASYAAISYA TASU=31AT40 41,952.0 41,952.0 -

0A3Y13T 1=363(40Al46YY»h (S 136»AcY
a&371=3Y40)

SENE)
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=t ATai0

=
=_ £ & dptinh L nwubnh, hGswbu Gwb E
Sz 5 3 3 pwdhb0tph, fudptiph L nwutiph, hGswtu Ow 2= AVIS0»YA
w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 133T3-03Y NALTSIY»AC 3YT3YAIUY»hA g
1 |23 |4 5 6 7 8
2. 2640c40AI=Y 383N4T3 - idiAlasY 41,952.0 41,952.0
- 233473 AST3Y I3Eeé»f 4215 41,952.0 41,952.0
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P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=17

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K
ToUTsaU 128a2T2U bda2Uk g2éai

(N=%=f 1A3UY»RAT)

=l “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
= 2 £ 2 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet
a| = 1363137-U3Y NALTSIV»AC 3YT3VaUY»AA =
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 3,041,941.1 2,634,896.1 407,045.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 757,383.4 691,538.4 65,845.0
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 737,812.1 676,967.1 60,845.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 737,812.1 676,967.1 60,845.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 687,812.1 676,967.1 10,845.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 515,086.0 515,086.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 79,244.0 79,244.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 18,600.0 18,600.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,700.0 1,700.0 -
- T3AC 1363(a0AlasYY»fi 4214 7,859.8 7,859.8 -
- 283413 -A3T3Y I3Eé»A 4215 900.0 900.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 2,000.0 2,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 180.0 180.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 735.0 735.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 461.9 461.9 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 8,500.0 8,500.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 9,035.3 9,035.3 -
- TASYEAAN T 3ICY YiaoA»f 4264 12,408.4 12,408.4 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8

- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 3,781.7 3,781.7 -
- D3 YAST3T3(CY 3 ViasA»h 4269 5,000.0 5,000.0 -
- W Gwwunbbp pinuobihg 4729 230.0 230.0 -
- A3AT31CA Tx3AY»f 4823 245.0 245.0 -
- 2[f I=Eé»h 4861 10,000.0 10,000.0 -
- T 3EST3Y 6303 TanaUY»h 5122 9,845.0 - 9,845.0
- 2[f U»U»Y3Y»fi ~ 63A03 TanasUY»h 5129 1,000.0 - 1,000.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 50,000.0 - 50,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 50,000.0 - 50,000.0

2130|01| 3 | O |Lanhwlanip plGnyph SwrwynipintGlGGn 11,471.3 11,471.3 -
&RCo

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 11,471.3 11,471.3 -
1=3¢3{a0AlasYY»h
31 ATa0
1. 303036C313Y 13640A13Y ST1»AC 11,471.3 11,471.3 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I'33U=31»A8400 (A3 T ICAZSTT3T
EQ 2347404140 YY»H)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 10,317.0 10,317.0 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 761.2 761.2 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 9.0 9.0 -
- T2AC 1363{a0AlasYY»h 4214 100.0 100.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 95.0 95.0 -
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 100.0 100.0 -
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 80.0 80.0 -
- A3AT31CA Tx3AY»f 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 5,000.0 - 5,000.0
T36340AIacYY»AC - T&T N» 13341313y
YIEZ3. [3cY SRE3T3Y0Y»A
&RCo

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 5,000.0 - 5,000.0
-TaT I rSwar313Y ~ Y3ES.- [3(¢Y
SREST3YUY»A
31 ATa0
1. USE3-[3cY SRE3T13Y0Y»i 5,000.0 - 5,000.0
- USE=- 1= 13%ar313Y ISEé»f 5134 5,000.0 - 5,000.0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8

2160| 01 0 | 2Gnhwlnip plGnyph hwipughl 3 3,100.0 3,100.0 -
T36340AIacYY»i (3IF 136»ACY 483 113Y40)
&RCo

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnipNLGbGEn (wyg 3,100.0 3,100.0 -
13¢»ACY 83T 13Y40)
31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,100.0 1,100.0 -
4A4BAGUY»AC " IxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NU3Y I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 1,100.0 1,100.0 -
2. Qnyph Gyundwdp hpwyniGplbph 2,000.0 2,000.0 -
-ASYEU3Y, -YIN3TU3Y
T0» I3 T T40AI3Y TA3U31A03Y N» 71
I3&T31 (x3A460Y»
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BUTE&3Ya0Alasy (S 136»ACY 4831 T3Y40) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %CY3E3ATY»AC N3RT36U3Y, $4AST44C, 2,000.0 2,000.0 -
BaASN3T30C ~ [2AA3I3Y N3T30Y»Ac
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000°s 181,255.0 150,255.0 31,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 131,170.0 100,170.0 31,000.0
anco

2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 131,170.0 100,170.0 31,000.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 91,170.0 91,170.0 -
- &3NE3YaiU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 91,170.0 91,170.0 -
a=N&=vail
3. OUASBUSBA»AC I»A3Yand - 46U 9,000.0 9,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 9,000.0 9,000.0 -
a=N&=vail
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

4. D»Y3E3U»AC I»A3YEA4 - 40U 20,000.0 - 20,000.0
- P»YU»AG ~ RCYAAIAYY»AC T2ACT3E T»i=Vana-al0 | 5113 20,000.0 - 20,000.0
8. @3I[ai0CY»i¢ ~ +A040Y»i¢ 6,000.0 - 6,000.0
»A313640640U "~ NCUY3YAAE - 46U
- b»YO»AC * BCYASAIAGYY»AC TSACT3E I»i=Vafa-4l | 5113 6,000.0 - 6,000.0
11. A»u3N3AA31Y»AC 136406400 5,000.0 - 5,000.0
- b»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 5,000.0 - 5,000.0

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipIN GGG (wy 50,085.0 50,085.0 -
136»fCY 4431 T3Y40)
El(00)

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 50,085.0 50,085.0 -
&3TT3Y40)
31 Ara0"
11. TAY3T3x36Y»AC I3BU31»A8400 85.0 85.0 -
- 2[f I=Eé»h 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 50,000.0 50,000.0 -
SRESTIYUY»AC CAZT3Y36400
- 2[f 1=Eé»h 4861 50,000.0 50,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 8,920.0 8,920.0 -
3 Ara0"

2560|05 | 6 | 0 | PAc3I= UCc3T3IAC 3BT E3Ya0AlasY (Sl 8,920.0 8,920.0 -
13»ACY 4831 T3Y40)
£l

2561| 05| 6 | 1 |PA¢3T3 UCc3T3IAC A3RTASYAAIATY (3 136»ACY 8,920.0 8,920.0 -
&3TT3Y40)
3 Ara0"
2. ZET3N3YU3Y " UCc3 T3 AlU3Y 8,000.0 8,000.0 -
I363JA0AIAGY Y»ii /1»63 0 CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 8,000.0 8,000.0 -
3. PIEIA3IZI3Y 4406 - SABYY»AC 920.0 920.0 -
&3NE3Y40U ~ i»A3Yand - 46U
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 920.0 920.0 -

2600/06| 0 | O ~02T2582020£0 p£U262820A0a00 <1 708,145.0 408,045.0 300,100.0

TagasU=2t 12e=20a0A0a000°8

31 Ara0"

2660|06 | 6 | O | “YIISAIYICY BCYIA3A46AI3Y  T4U46Y3¢ 708,145.0 408,045.0 300,100.0
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
£l
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a| = 12E3T3R. U3V NG T TY»AC 3V T=VAUY»AA =
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2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 708,145.0 408,045.0 300,100.0
1=3¢340Ala0YY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwlwpwa 26GpGpH hwpp 35,000.0 35,000.0 -
T3YCuY»AC i»A3YaAa - 4ol
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 35,000.0 35,000.0 -
a=N&=vail
2. Pwquiwplwlwpwl pGGpGph pbp 140,000.0 - 140,000.0
T3YCUY»AC i»A3YaAa - aiU
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aiU | 5113 140,000.0 - 140,000.0
3. “3I3lcy TBA3I0y»Ac 273,145.0 113,045.0 160,100.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- a0 4251 103,000.0 103,000.0 -
a=N&=vail
- Untpuhnhwbp ng wewnwywb (ng hwdwOpuwihb) ng 4521 10,045.0 10,045.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 150,000.0 - 150,000.0
- 2[f U»U»Y3Y»fi * 63A03 TanasUY»h 5129 10,100.0 - 10,100.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 245,000.0 245,000.0 -
3 BREST3Y0Y»A
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 245,000.0 245,000.0 -
a=N&=vail
8. Ypwnuyhl wunyquidplbiph Gnpngnid 15,000.0 15,000.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taau 102,881.0 92,781.0 10,100.0
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~E84ATC I=36340AI40YY»A 17,783.6 7,683.6 10,100.0
&RCo

281108 | 1 | 1 |D3Y-&WC " 8A4&RNNC 1363[a0AlasYY»fi 17,783.6 7,683.6 10,100.0
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 4,683.6 4,683.6 -
I 3303178400
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 4,683.6 4,683.6 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 13,100.0 3,000.0 10,100.0
136466400 46 &3N43Y4iU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 3,000.0 3,000.0 -
a=N&=vail
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 10,100.0 - 10,100.0

99




“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jwpswyw pniot | $nbnuwjhb pneet

L7] Ec" R N I S ST A

= 1=2a3T30-U3Y NATTSTY»AC 3YT3YAIUY»AA e
1 213 |4 5 6 7 8 9

2820|08 | 2 | O | @B3T146A3IcY I36346AI46YY»A 85,097.4 85,097.4
anco’

2821|108 | 2 | 1 |TIASLISA3YY»H 13,731.9 13,731.9
31 ATa0
1. TASIIA3BY3CY 136346446V Y» i 13,731.9 13,731.9
- Untpuhnhwltp ng $hOwbuwywl wtwnwyw 4511 13,731.9 13,731.9
(N3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 28,359.5 28,359.5
31 ATa0
1. D3U3Ya3icY UBZTAGIAC —~ 331 A3U3Y6¢ 28,359.5 28,359.5
13303178400
- Untpuhnhwbp ng $hOwbuwywl wtnwyw 4511 28,359.5 28,359.5
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA40AIAYY»A 37,006.0 37,006.0
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 37,006.0 37,006.0
CASI3Y3646U
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 33,256.0 33,256.0
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 3,750.0 3,750.0

2827|108 | 2 | 7 |DaR3A03YY»AC —~ URSTAIAZICY SAA»UY»AC 6,000.0 6,000.0
»A3T3Y-YaU - &a3(a=vaU
31 ATa0
1. DAGBZBA0ZYY»AC I»A=Yaia -4l 6,000.0 6,000.0
a3N43vYaou
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 6,000.0 6,000.0

2900/09|0 | O ToAasAUasU 1,181,350.6 1,181,350.6
31 ATa0

2910|109 | 1 | 0 |UBE318A406313Y = T3AAZT3Y AVIN3Y461 890,698.8 890,698.8
TAA&oAl46Y
anco’

2911|109 | 1 | 1 |U=E314R46=1T3Y TRA&AIATY 890,698.8 890,698.8
31 ATa0
1. USBE315746313Y 466466460 890,698.8 890,698.8
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 890,698.8 890,698.8
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 290,651.8 290,651.8
TAA&oAl46Y
anco’
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2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3Ta0AlasY 290,651.8 290,651.8
31 ATa0
1. 2ZAT313A46313Y 1360 C3A3140AlaoY 290,651.8 290,651.8
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 290,651.8 290,651.8
(N=3U=3YO3ICY) T3S T»AKA0AIASYY»ACY

3000(10|0 | O €a0k=2E2T20 a42pT1a=20a0Alacy 100,006.1 100,006.1
31 ATa0

3030(10| 3 | 0 |A3A3%3UCY 1aA6A3T 3YOCYD 1,775.0 1,775.0
&RCo

3031| 10| 3 | 1 |P3AS%L3TCY Tanoi=1 3Y0CYa 1,775.0 1,775.0
31 ATa0
1. D3A3Y37 440Y»040 3Y03Y6 1,775.0 1,775.0
N&603AT=3i4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 1,775.0 1,775.0

309010 | 9 | O |846C3E3T13Y &33BT A&3Ya0Al46Y (3IF 98,231.1 98,231.1
13»ACY 4831 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y A3 W ASVAAIAY (3l 13e»AcY 48,071.1 48,071.1
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 48,071.1 48,071.1

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 45,128.6 45,128.6
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 2,011.8 2,011.8
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 25.1 25.1
- T2AC 1363{a0AlasYY»h 4214 282.0 282.0
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 499.6 499.6
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 124.0 124.0

3092|10| 9 | 2 |€46C3E3T3Y &3/ W ASVAAIRYA WA=3U31AT40 50,160.0 50,160.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 50,160.0 50,160.0
- 2330413 -A3T3Y I2E6»i 4215 50,160.0 50,160.0
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=l “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

= = % E= 1= pwdhaltnh, fudptph L nwubph, hOswtu Gub E = AVISUnVA

< £ 3 0 wluutinh Gt Yua = > U pinLot Gnwyht

2 3| E2 pnLebnwih( dwiuubnh wlntuwghinwywl == Jwnswywl pynigt | pnlnuwyht pnigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 2,930,484.7 2,742,326.5 188,158.2
2100|010 | 0 AU _p=20a68 'UapUA/E p2082UEU 492,517.8 483,879.6 8,638.2
T12e20asAlasuues

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 475,546.5 470,985.3 4,561.2
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 475,546.5 470,985.3 4,561.2
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 475,546.5 470,985.3 4,561.2
- 2RE3TA0Y»AC SREST3T3A0»A 4111 362,206.0 362,206.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 55,724.0 55,724.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 14,133.4 14,133.4 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 476.1 476.1 -
- T3AC 1363(a0AlasYY»fi 4214 10,753.6 10,753.6 -
- 2330413 -A3T3Y I2E6»i 4215 520.0 520.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 400.0 400.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 240.0 240.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 364.0 364.0 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 544.0 544.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 4,455.0 4,455.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 2,884.2 2,884.2 -
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a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 8,765.2 8,765.2 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,284.8 1,284.8 -
-D3WAT YA 213y 3 YiasA»i 4269 4,000.0 4,000.0 -
- A3A31CA Tx3AY»h 4823 235.0 235.0 -
- 2[f I=Eé»h 4861 2,000.0 2,000.0 -
- T 3EST3Y 6303 TanaUY»h 5122 4,561.2 - 4,561.2

2130|101 | 3 | O |Lanhwlanmp plGnyph SwerwynipintGlGGn 11,471.3 11,394.3 77.0
&RCo

2131|101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip plniyph 11,471.3 11,394.3 77.0
1=3¢3{a0AlasYY»h
31 ATa0
1. 303036C313Y I13640A13Y ST »AC 11,471.3 11,394.3 77.0
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I'33U=31»A8400 (A3 T ICAZSTT3T
EQ 2347404140 YY»H)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 10,289.6 10,289.6 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 648.8 648.8 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 74.8 74.8 -
- T3AC 1363(a0AlasYY»fi 4214 111.5 111.5 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 53.0 53.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 60.0 60.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoe 4261 96.5 96.5 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 51.0 51.0 -
- A3A31CA Tx3AY»h 4823 9.1 9.1 -
- T 3EST3Y 6303 TanaiUY»h 5122 77.0 - 77.0

2150|101 | 5 | O |LanhwGnip pGniyph hwipuyghG 4,000.0 - 4,000.0
T36346AIacYY»AC - T&T N» T3%41313Y
YSEZ.[3gY 3BEZT3Y0Y»A
&RCo

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 4,000.0 - 4,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SREST3YUY»A
31 ATa0
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 4,000.0 - 4,000.0

2160|01| 6 | O |Lanhwlnip plnyph hwipuyhl ) 1,500.0 1,500.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y4a0)
&RCo
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2161|101 | 6 | 1 |COnhwGntp pOnyph hwlpwihG SwewynieNLGbGEn (wy 1,500.0 1,500.0 -
13¢»ACY 83T 13Y40)
31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 500.0 500.0 -
4A4BAGUY»AC "~ TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NU3Y I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 500.0 500.0 -
2. Qnuyph GLundwdp hpwyniGplEph 1,000.0 1,000.0 -
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» 71
I3&T31 ix37460Y»A
- A3AT31CA Tx3AY»f 4823 1,000.0 1,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al40Y (3IF 136»AcY 483 113Y4a0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. BCY3E3ATY»AC N3RT36U3Y, $4AST44C, 2,000.0 2,000.0 -
BaAASN3T30C ~ I2AA3I3Y N3T30Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,000.0 2,000.0 -

2400/04|0 | 0 TUTeE2T20 p2582" 2520AUa000°s 228,427.4 198,928.0 29,499.4
31 ATa0

245004 | 5 | 0 | TA3YE&4AT 198,342.4 168,843.0 29,499.4
anco

2451|104 | 5 | 1 |O03Y=2a3A(S(CY wASYeAan T 171,343.0 168,843.0 2,500.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 129,438.0 129,438.0 -
- &3NE3Ya0U
- P»YU»AC  T2840l6Y»AC AYAS36CT Yana- aU 4251 129,438.0 129,438.0 -
a=N&=vail
3. OUABUBA»AC I»ASYAAE - 46U 25,000.0 25,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 25,000.0 25,000.0 -
a=N&=vail
4. D»Y383U»AC i»A3YaA4 - 46U 9,300.0 9,300.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 9,300.0 9,300.0 -

a=fa=vail
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8. @3IAA00CY»AC "~ +a046Y»i¢ 5,105.0 5,105.0 -
»A3136406400 ~ NCUY3Yaha - 460
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 5,105.0 5,105.0 -
a=N&=vail
11. A»03N3AA31Y»AC 136406400 2,500.0 - 2,500.0
- P»YU»AC ~ BCYASAIASYY»AC T3645645U 5112 2,500.0 - 2,500.0

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY * 3 wA3YER4AT 26,999.4 - 26,999.4
31 ATa0
1. I»A»E3TY»AC NCUY3YARAaE - 460 26,999.4 - 26,999.4
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 26,999.4 - 26,999.4

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbGpnipIN GGG (wy 30,085.0 30,085.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipntGbEn (wy nwubph 30,085.0 30,085.0 -
4437 T=3Y40)
31 ATa0
11. TAY3 T 3x36Y»AC I3pU31»A8400 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SREST3Y0Y»AC CAZI3Y3646U
- 2k I=Eé»i 4861 30,000.0 30,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa20asAlacy 645.6 645.6 -
31 ATa0

2510|05| 1 | O |UnpwhwlGmd 645.6 645.6 -
&RCo

2511|05| 1 | 1 |Unpwhwbntd 645.6 645.6 -
31 ATa0
1. Unpwhwlnmpint b L ywGhunwpwluwl 645.6 645.6 -
U=30A46U0
- W Gwwuwnbbp pinuobihg 4729 645.6 645.6 -

2600/06| 0 | O “02T282020£0 pEU262820A0a00 <1 309,484.3 159,463.7 150,020.6

TagasU=2t 12e=20a0A0a000°8

31 ATa0

2660|06 | 6 | 0 | “YSISAIY3CY BCY3ASAAGAIZY ~ T4U46Y3E 309,484.3 159,463.7 150,020.6
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
&RCo

266106 | 6 | 1 |~ YST3ASY3ICY RCYSASAAAIBY ~ TaUasY3t 309,484.3 159,463.7 150,020.6
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
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w2 3| 5 A pinLebnwihb Swiuubinh L ughuinwiywl = Jupswlwl pntg $nlnwhh pynte

a| = 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA =
1 (2|34 5 6 7 8 9

1. Pwquiwplwlwpwa 26GpGpH hwpp 34,965.7 34,965.7 -
T3YCUY»AC I»A3Yaha- a6l
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 34,965.7 34,965.7 -
a=N&=vail
3. “3I3cy T3A3IuY»AC 178,020.6 28,000.0 150,020.6
E303NA383A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 20,000.0 20,000.0 -
a=N&=vail
- Untpuhnhwbp ng wewnwywb (ng hwdw)Opwihb) ng 4521 8,000.0 8,000.0 -
YCY3Ye3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 150,020.6 - 150,020.6
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 89,998.0 89,998.0 -
3F 3RE3T3Y0Y»hA
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 79,998.0 79,998.0 -
a=N&=vail
-D3WAT YA 213y 3 YidsA»i 4269 10,000.0 10,000.0 -
8. Ypwnuyhl wunyquidplbiph Gnpngnid 6,500.0 6,500.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 6,500.0 6,500.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 62,851.6 62,851.6 -
3 ATasu

2810|108 | 1 | 0 |P3Y-67C ~ER4ATC I=36340AI46YY»A 8,029.2 8,029.2 -
anco’

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aNWC I363(40Al46YY»h 8,029.2 8,029.2 -
3 ATasu
1. 884AT3ICY UCca6=3645UY»AC 8,029.2 8,029.2 -
I 3303178400
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 8,029.2 8,029.2 -

2820|08 | 2 | O | @B3T146A3IcY I36346AI46YY»A 54,822.4 54,822.4 -
anco’

2821|08| 2 | 1 |AZLI3AZYY»f 26,999.8 26,999.8 -
3 ATasu
1. TASI3[3Y3(cY [363a0AladyY Yy 26,999.8 26,999.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 26,999.8 26,999.8 -
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 12,362.6 12,362.6 -

=t ATai0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= =B v 0 swiuubph nGunEuwghnwywl = 17 b anwihG b

wZ 3 §5¢& RInpbwG dwiuutinh ughtnuyuil sz Ywngwlwt pnigh | pnnuyhl pntg

= 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|3 |4 5 6 7 8 9
1. D3U3Ya3lcY UBZTEGIAC ~ 3y31 A3U3Y6C 12,362.6 12,362.6
I'33031»A846U
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 12,362.6 12,362.6
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA4&AIAGYY»A 15,460.0 15,460.0
3 ATasu
1. PB3T40A3ICY UCcad3640UY»AC 15,460.0 15,460.0
CA3T3Y3646U
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 9,630.0 9,630.0
- T»Y6303(CY ~ NSYASICY eYY1G YidoA» 4267 5,830.0 5,830.0

2900/09| 0 | O ToAabAlaU 1,729,795.7 1,729,795.7
3 ATasu

2910(09 | 1 | 0 |UBE318A46313Y =~ T3AAZ13Y AYIN3Ya6 1,402,678.0 1,402,678.0
TAA&0AI4sY
&RCo

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 1,402,678.0 1,402,678.0
3 ATasu
1. USE315746313Y 406466460 1,402,678.0 1,402,678.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 1,402,678.0 1,402,678.0
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 327,117.7 327,117.7
TAA&0AlasY
&RCo

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 327,117.7 327,117.7
3 ATasu
1. 2AT318A46313Y 138 1 C3A3140A146Y 327,117.7 327,117.7
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 327,117.7 327,117.7
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 104,762.3 104,762.3
3 ATasu

3030(10| 3 | 0 |A3A3U3UCY 1aA6A3T 3YOCYD 1,985.9 1,985.9
&RCo

3031 10| 3 | 1 |P3ASKL3WCY TaA6AZT 3YOCYU 1,985.9 1,985.9
3 ATasu
1. D3A3Y37 446Y»040 3Y03Y6 1,985.9 1,985.9
N&sO3AT13 iaAaoAi3y 13303 1»A8400
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,985.9 1,985.9
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= || 4 “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA
c 3 =
w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
309010 0 | 840C3F3T13Y 8381 E3Ya0Ala6Y (3IF 102,776.4 102,776.4
13»ACY 4831 T3Y40)
&RCo
3091|10| 9 | 1 |€A6C3EZT3Y A3RWASVAAIAY (3l 13e»AcY 42,299.4 42,299.4
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 42,299.4 42,299.4
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI20YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 41,573.0 41,573.0
N3 T»E2Tx3AY»A
- T3AC 1363(a0AlasYY»fi 4214 89.0 89.0
- TASE»YIST3ICY YidsA»A -~ N=-aoew 4261 537.4 537.4
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 100.0 100.0
3092| 10| 9 | 2 |846C3E3T3Y &3 TASYAAISYA TASU31AT40 60,477.0 60,477.0
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 60,477.0 60,477.0
- 283413 -A3T3Y I3Eé»A 4215 60,477.0 60,477.0

108




P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=T 9

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K
Uas Uadg 128a2T20 boe2Uk g2éai

(N=%=f 1A3UY»RAT)

= || 4 “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 2,998,514.6 2,763,654.6 234,860.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 519,914.3 505,034.3 14,880.0
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 497,443.0 490,943.0 6,500.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 497,443.0 490,943.0 6,500.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 492,443.0 485,943.0 6,500.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 354,926.0 354,926.0 -
N3 T»E2Tx3AY»A
- &3-S TRaUY»A, 1ASUST3Y EASE4&ieaiUY»1 4112 54,604.0 54,604.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 28,581.0 28,581.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,581.0 1,581.0 -
- T3AC 1363(a0AlasYY»fi 4214 6,904.1 6,904.1 -
- 283413 -A3T3Y I3Eé»A 4215 600.0 600.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 180.0 180.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 180.0 180.0 -
- 2RE3TST3R0C UBEY=2-Cu3T3Y 13- 3603y 4233 3,000.0 3,000.0 -
1=3¢3{a0AlasYY»h
- DO TSWTST3Y 1363{40Ala0YY»h 4234 1,317.5 1,317.5 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 3,119.6 3,119.6 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 5,800.0 5,800.0 -

Yaiia-ail - a=Na=vasl
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8

- TASE»YIST3ICY YidoA»A -~ N=-aoe 4261 3,356.7 3,356.7 -
- TASYEAANT3ICY YiaoA»f 4264 9,758.0 9,758.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 2,535.1 2,535.1 -
-D3WAT YA 213y 3 YidsA»i 4269 4,000.0 4,000.0 -
- A3A31Ch Tx3AY»h 4823 500.0 500.0 -
- 2[f I=Eé»h 4861 3,000.0 3,000.0 -
- 13AE213Y 63A0=T4RAUY»A 5122 6,500.0 - 6,500.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 5,000.0 5,000.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 5,000.0 5,000.0 -
azla=val

2130|01 | 3 | O |Lanhwlanmp plGnyph SwrwynipintGGGn 11,471.3 11,091.3 380.0
ance’

2131|101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip pOniyph 11,471.3 11,091.3 380.0
1363(40Ala0Y Y
3t Ata0
1. 303036C313Y 13640AI3Y ST1»AC 11,471.3 11,091.3 380.0
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=3pU=31»A8400 (A3 1 TCAZIT31
EQ BYAAA0AIEGY Y1)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 9,544.6 9,544.6 -
NS T»E3Tx3AY»ii
- WY»A-»WCT 1263[a0AIa5YY»f 4212 448.1 448.1 -
- Tal&sy=t 13¢3(apAlasy Y»ii 4213 22.0 22.0 -
- T2AC 1363{a0AlasYY»h 4214 444.4 444.4 -
- @HU»YRY»AC 6303 TARaiUY»AC AYA=6CT 4252 300.0 300.0 -
Yana-ail - a3Na=val
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 170.0 170.0 -
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 162.2 162.2 -
- 13AE213Y 63A0=T4RAUY»A 5122 380.0 - 380.0

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 8,000.0 - 8,000.0
T36340AIacYY»AC - T&T N» 13341313y
YSE3.[3gY 3BEZT3Y0Y»A
ance’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 8,000.0 - 8,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3t Ata0
1. USE3-[3cY SRE3T13Y0Y»i 8,000.0 - 8,000.0
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=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9
- USE=- 13 13%ar313Y ISEé»f 5134 8,000.0 - 8,000.0
2160|01| 6 | O |LanhwGnip pGniyph hwipughG ) 3,000.0 3,000.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
&RCo
2161|101 | 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbGEn (wyg 3,000.0 3,000.0 -
13¢»ACY 83T 13Y40)
31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,000.0 1,000.0 -
4AdBAGUY»AC " IxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 2,000.0 2,000.0 -
-ASYEU3Y, -YIN3TU3Y
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0 -
2200/02|0 | 0 a=2pta=0asAlacy 1,000.0 1,000.0 -
31 ATa0
2250| 02| 5 | O |&3BU&3YadAla6Y (3IF 136»ACY 4831 T3Y40) 1,000.0 1,000.0 -
&RCo
2251|102 | 5 | 1 |43k waA3VasAlasY (3 1=2e»ACY 4831 13Y40) 1,000.0 1,000.0 -
31 ATa0
1. %CYS 83U Y»AC N3BT36U3Y, 4aA=3144C, 1,000.0 1,000.0 -
BaASN3T30C ~ [2AA3I3Y N3T30Y»Ac
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,000.0 1,000.0 -
2400|040 | 0 TUTeE2T20 252" 2520AUa000°s 248,265.0 195,065.0 53,200.0
31 ATa0
2450|104 | 5 | 0 | TA=YéA4AT 218,165.0 164,965.0 53,200.0
anco
2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 208,165.0 164,965.0 43,200.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 138,465.0 138,465.0 -
- &3NE3YaiU
- P»YU»AC ~ T3eailoY»i¢ AYA=0CT Yafia- 4l 4251 138,465.0 138,465.0 -
a=N&=vail
3. CYASO3A»AC T»A3Yan4 - 460 15,000.0 15,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -

a=fa=vail
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9

4. D»Y3E3U»AC i»A3YaAa - 46U 54,000.0 11,500.0 42,500.0
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 11,500.0 11,500.0 -
a=N&=vail
- b»YU»AC * BCYABAIAGYY»AC TSACT3E T»i=Vafa-aU | 5113 42,500.0 - 42,500.0
11. A»u3N3AA3TY»AC 136406400 700.0 - 700.0
- b»YU»AC " BCYABAIAGYY»AC T3é456400 5112 700.0 - 700.0

2455| 04 | 5 | 5 |Ea0ATST3R3A3(CY ~ 3 wASYeAaAT 10,000.0 - 10,000.0
31 Ara0"
1. I»A»E3TY»AC NCUY3YAnAa - 46U 10,000.0 - 10,000.0
- 2[E U»U»Y3Y»h " 63AUS TaRaiUY»h 5129 10,000.0 - 10,000.0

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 30,100.0 30,100.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 30,100.0 30,100.0 -
&3TT=3v40)
3 Ara0"
11. TAY3T3x36Y»AC I3BU31»A8400 100.0 100.0 -
- 2[f I=Eé»h 4861 100.0 100.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SBESTIYUY»AC CAZT3Y3640U
- 2 I3Eé»h 4861 30,000.0 30,000.0 -

2600/06| 0 | O ~02T2562020£0 pEU262820A0a00 <1 296,810.0 162,530.0 134,280.0

TagasU=2t 12e=20a0A0a000°8

31 Ara0"

2660|06 | 6 | O | “YIISAIYICY BCYIA3A40AI3Y ~ T4U46Y3¢ 296,810.0 162,530.0 134,280.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 296,810.0 162,530.0 134,280.0
1=3¢3a0Ala0YY»A (3l 136»ACY a&3TT3Y40)
3 Ara0"
1. Pwquiwplwlwpwa 2GGpGpH hwpp 60,000.0 60,000.0 -
T 3YCUY»AC I»A3Yaha- a6l
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 60,000.0 60,000.0 -
a=N&=vail
2. Puqudwplbwluwpwl 26Gplph plip 64,030.0 24,030.0 40,000.0
T 3YCUY»AC I»A3Yaha- a6l
-D3TA YAST3T3(CY 3 ViasA»h 4269 24,030.0 24,030.0 -
- b»YU»AC * BCYASAIASYY»AC TSACT3E T»i=Vafa-al | 5113 40,000.0 - 40,000.0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9

3. “3I3cY T3A3Muy»Ac 106,280.0 12,000.0 94,280.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3Na3vaoU
- Untpuhnhwbp ng wewnwywb (ng hwdwbpwihb) ng 4521 12,000.0 12,000.0 -
YCY3Ye3T3Y T3%UST»A&40AIA0YY»ACY
- P»YU»AC " BCYABAIAGYY»FAC T3é456400 5112 32,000.0 - 32,000.0
- P»YU»AC ~ BCYASAIASYY»AC TSACH 3t T»ASYafa-4aU | 5113 60,000.0 - 60,000.0
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 2,280.0 - 2,280.0
4. Puqilwplwluwpwl 26Gpbnh pwpblwnqdwl 60,000.0 60,000.0 -
3F 3RE3T3Y0Y»hA
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yana- U 4251 60,000.0 60,000.0 -
a=N&=vail
8. Ypwnuyhl wunyquidplbiph Gnpngnid 6,500.0 6,500.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 6,500.0 6,500.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 171,814.3 139,314.3 32,500.0
31 ATa0

2810|08 | 1 | O |P3Y-67C ~ 684ATC I36340AI45YY»h 42,450.0 9,950.0 32,500.0
&RCo

2811/08| 1 | 1 |[D3Y-&WC ~ eA4aRNC 1363(40Al46YY»h 42,450.0 9,950.0 32,500.0
31 ATa0
1. 884AT3ICY UCca63645UY»AC 7,450.0 7,450.0 -
I 3303178400
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 7,450.0 7,450.0 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 35,000.0 2,500.0 32,500.0
136400400 46 33N43Ya0U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 2,500.0 2,500.0 -
a=N&=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 32,500.0 - 32,500.0

2820|108 | 2 | 0 |@B3T140A3CY [3E3a0AIA6Y Vi 129,364.3 129,364.3 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 47,971.2 47,971.2 -
31 ATa0
1. TASI3[3Y3(cY [363a0AladyY Yy 47,971.2 47,971.2 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 47,971.2 47,971.2 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 51,193.1 51,193.1 -

=t ATai0
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= 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA =

1 (2|3 |4 5 6 7 8 9
1. D3U3Ya3lcY UBZTEGIAC ~ 3y31 A3U3Y6C 51,193.1 51,193.1
I'33031»A846U
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 51,193.1 51,193.1
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA4&AIAGYY»A 30,200.0 30,200.0
31 ATa0°
1. PB3T40A3ICY UCcad3640UY»AC 30,200.0 30,200.0
CASI3Y36460
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 23,160.0 23,160.0
- T»Y6303(CY " N3YASICY 8YY1C YiasA»f 4267 7,040.0 7,040.0

2900/09| 0 | O ToAabAlaU 1,656,151.5 1,656,151.5
31 AfasU°

2910(09 | 1 | 0 |UBE318A46313Y =~ T3AAZ13Y AYIN3Ya6 1,245,450.4 1,245,450.4
TAA&0AI4sY
anco

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 1,245,450.4 1,245,450.4
3 AfaU°
1. USE315746313Y 406466460 1,245,450.4 1,245,450.4
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 1,245,450.4 1,245,450.4
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 410,701.1 410,701.1
TAA&0AlasY
anco’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 410,701.1 410,701.1
31 AfasU°
1. 2AT318A46313Y 138 1 C3A3140A146Y 410,701.1 410,701.1
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 410,701.1 410,701.1
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 104,559.5 104,559.5
3 AfaU°

3030|10 | 3 | 0 |P3A3B3TCY 14A6A3T 3YOCYU 750.0 750.0
anco

3031 10| 3 | 1 |P3ASKL3WCY TaA6AZT 3YOCYU 750.0 750.0
31 AfasU°
1. D3A3Y37 440Y»040 3Y03Y6 750.0 750.0
N&sO3AT13 iaAaoAi3y 13303 1»A8400
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 750.0 750.0
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a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9
309010 0 | 846C3F313Y &381&3YaoAlaoy (3IF 103,809.5 103,809.5
13»ACY 4831 T3Y40)
&RCo
3091 10| 9 | 1 |846C3E3T3Y &3RTASYAIAIATY (S 138»ACY 40,481.5 40,481.5
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 40,481.5 40,481.5
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI20YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 38,945.9 38,945.9
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 488.0 488.0
- T2AC 13é3{a0AlasyY»h 4214 329.8 329.8
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 100.0 100.0
Yafia- &l &=N&=vail
- MA=E»YIST3ICY YiaoA»A ™ N=-a0ew 4261 517.8 517.8
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0
3092/ 10| 9 | 2 |€46C3E3T3Y A3 W ASYAAISYA TH3U31AT40 63,328.0 63,328.0
0A=Y13T [=3é3]a0AlasYY»i (Sl 136»ACY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 63,328.0 63,328.0
- 2483413 -A3T3Y I3Eé»f 4215 63,328.0 63,328.0
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a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 583,336.2 537,180.2 46,156.0
2100|010 | 0 AU _p=20a68 'UapUA/E p2082UEU 198,331.7 196,251.7 2,080.0
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 196,481.7 195,901.7 580.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 196,481.7 195,901.7 580.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 196,481.7 195,901.7 580.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 151,606.0 151,606.0 -
N3 T»E2Tx3AY»A
- a3 "3 rhalY»f, 1ASU3T3Y EASEaieaUY»h 4112 23,324.0 23,324.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 4,448.7 4,448.7 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 120.0 120.0 -
- T3AC 1363(a0AlasYY»fi 4214 1,732.2 1,732.2 -
- 2330413 -A3T3Y I2E6»i 4215 480.0 480.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 150.0 150.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 123.0 123.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @2eY32.CU3T3Y 1363(a0AlasYY»fi 4241 127.0 127.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 2,650.0 2,650.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 1,012.9 1,012.9 -
- TASYEAAN T 3ICY YiaoA»f 4264 2,633.3 2,633.3 -
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a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 446.6 446.6 -
-D3WAT YA 213y 3 YidsA»i 4269 3,000.0 3,000.0 -
- A3A31Ch Tx3AY»h 4823 48.0 48.0 -
- 2[f I=Eé»i 4861 2,000.0 2,000.0 -
- 13AE=13Y 63A0=T4RAUY»A 5122 580.0 - 580.0
2150|101 | 5 | O |L4anhwGnip pGniyph hwlpughG 1,500.0 - 1,500.0
T36340AIacYY»AC - T&T N» T334 1313Y
YIEZ3. [3cY SRE3T3Y0Y»A
&RCo
2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbbtnh 1,500.0 - 1,500.0
-TaT I rSywar313Y ~ Y3ES.- [3(¢Y
SREST3YUY»A
31 ATa0
1. USE3-[3[gY SRE3T3Y0Y»A 1,500.0 - 1,500.0
- U3ES.- I3 3313y ISEsé»i 5134 1,500.0 - 1,500.0
2160| 01| 6 | O |L4anhwGnip pGniyph hwlpuyghG ) 350.0 350.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
&RCo
2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 350.0 350.0 -
12E»fCY 4831 T3Y40)
31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 300.0 300.0 -
4A4BAGUY»AC " IxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3A31Ch Tx3AY»h 4823 300.0 300.0 -
2. Qnyph Gyundwdp hpwyniGplbph 50.0 50.0 -
-ASYEU3Y, -YIN3TU3Y
TO0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3A31Ch Tx3AY»h 4823 50.0 50.0 -
2400|040 | 0 TUTeE2T20 282" 2520AUa000°s 97,671.5 53,595.5 44,076.0
31 ATa0
2420|04 | 2 | O | /4603 1Y U »E40A146Y, 3Y 1363y 24,076.0 - 24,076.0
TYU»éd0Aldoy, OTYaneasAlasy
anéaniacAlacy
&RCo
2424|104 | 2 | 4 |aé4-al 24,076.0 - 24,076.0
31 ATa0
1. aéa-U3Y 63Y6¢ 136466400 ~ 24,076.0 - 24,076.0
I»A3Y4A4 - 46U
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e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 24,076.0 - 24,076.0
2450|104 | 5 | 0 | TA=YéA4AT 63,510.5 43,510.5 20,000.0
anco
2451|104 | 5 | 1 |O03Y=2a3A(S(CY wASYeAaR T 63,510.5 43,510.5 20,000.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 27,360.0 27,360.0 -
- &3NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- a0 4251 27,360.0 27,360.0 -
a=N&=vail
3. OUABUBA»AC I»ASYAAE - 46U 16,150.5 16,150.5 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 16,150.5 16,150.5 -
a=N&=vail
4. D»Y3E3U»AC I»A3YEA4 - 40U 20,000.0 - 20,000.0
- P»YU»AG ~ RCYAAIAYY»AC TBACT3E T»i=Vana-a0 | 5113 20,000.0 - 20,000.0
2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipIN GGG (wy 10,085.0 10,085.0 -
136»fCY 4431 T3Y40)
&RCo
2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 10,085.0 10,085.0 -
4A3T1=2Y40)
31 ATa0
11. TAY3 I 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 10,000.0 10,000.0 -
SRESTIYUY»AC CAZT3Y36400
- 2t ISEé»f 4861 10,000.0 10,000.0 -
2500/05| 0 | O pdx2T2 GA=21208 a42pTa=20asAlacy 1,171.0 1,171.0 -
31 ATa0
2560| 05| 6 | 0 | PAC3T3 UCc3T3IAC &33BT A&3YadAl46Y (3IF 1,171.0 1,171.0 -
13»ACY 4831 T3Y40)
&RCo
2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlasY (S 13eé»Acy 1,171.0 1,171.0 -
4A3T1=2Y40)
31 ATa0
2. ZET3N3YU3Y ~ UCc3U3U»AllU3Y 1,171.0 1,171.0 -
I363JA0AIA0Y Y»ii /1»63 1 CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,171.0 1,171.0 -
2600/06| 0 | O ~U2126202ULU PEU2628a0Ala0U ©1 2,000.0 2,000.0 -
TagasU=2t 12e=20a0Ala000°8
31 ATa0
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1 |23 |4 5 6 7 8

2660 | 06 0 | TYSI3A3Y3CY BCY3AS[40AIZY ~~ 1a040Y3¢ 2,000.0 2,000.0
T36340AIa6YY»i (3lF 136»ACY 4831 T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 2,000.0 2,000.0
1=3¢3{a0Ala0YY»A (3l 13é»ACY a3 T3Y40)
31 ATa0
3. “3I3lcy TBA3Iay»Ac 2,000.0 2,000.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3Na3vaoU
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 2,000.0 2,000.0
a=N&=vail

2800/08| 0 | O p=20v£eT, @p2TaolA i Taal 23,291.1 23,291.1
31 ATa0

281008 | 1 | O |A3Y-EW¢ ~ 84ATC I363a0AI46YY»A 4,817.4 4,817.4
&RCo

2811/08| 1 | 1 |[D3Y-&WC ~ eA4aRNC 1363(40Al46YY»h 4,817.4 4,817.4
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 4,817.4 4,817.4
13303178400
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 4,817.4 4,817.4

2820|108 | 2 | 0 |@B3T140A3CY [3E3a0AIA6Y Vi 18,473.7 18,473.7
&RCo

2824108 | 2 | 4 |2l URSTAAZICY T3HUST»AA40AIAGYY»A 18,473.7 18,473.7
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 18,473.7 18,473.7
CAZT3Y3646U
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 17,758.7 17,758.7
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 715.0 715.0

2900/09| 0 | O ToAabAUaU 238,340.4 238,340.4
31 ATa0

2910|109 | 1 | 0 |UBE318A406313Y =~ T3AAZT3Y AVIN3Y461 141,298.8 141,298.8
TAA&oAl46Y
&RCo

2911|109 | 1 | 1 |U=E314A46=T3Y TRA&AIATY 141,298.8 141,298.8
31 ATa0
1. USBE315746313Y 466466460 141,298.8 141,298.8
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 141,298.8 141,298.8
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
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a| = 1=2a3T30-U3Y NATTSTY»AC 3YT3YAIUY»AA o
1 (2|34 5 6 7 8 9
2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363134 - 740 97,041.6 97,041.6
TAA&oAl46Y
&RCo
2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 97,041.6 97,041.6
31 ATa0
1. 2ZAT318A46313Y 1361 C3A3140AlacY 97,041.6 97,041.6
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 97,041.6 97,041.6
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
3000(10|0 | O €a0k=2E2T20 a42pT14a=20a0Alacy 22,530.5 22,530.5
31 ATa0
3030(10| 3 | 0 |A3A3U3UCY 1aA6A3T 3YOCYD 600.0 600.0
&RCo
3031| 10| 3 | 1 |P3ASK%L3TCY Tanoi=1 3Y0CYu 600.0 600.0
31 ATa0
1. D3A3Y37 440Y»640 3Y03Y6 600.0 600.0
N&603AT3i4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 600.0 600.0
3090(10| 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3 21,930.5 21,930.5
13»ACY 4831 T3Y40)
&RCo
3091 10| 9 | 1 |846C3E3T3Y &SR T ASYAIAIATY (S 136»ACY 10,929.5 10,929.5
4A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY [363I40AI46YY»AC 10,929.5 10,929.5
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 10,632.5 10,632.5
N3 T»E2Tx3AY»A
- T2AC 1363{a0AlasYY»h 4214 117.1 117.1
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 120.0 120.0
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 59.9 59.9
3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=3U31AT40 11,001.0 11,001.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 11,001.0 11,001.0
- 283413 -A3T3Y I3Eé»A 4215 11,001.0 11,001.0
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2100(01| 0 | O AU _p=20a06 ~UasUAL p2Us=2040 132,126.4 129,926.4 2,200.0
T2e20a0A0a0U°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 130,126.4 129,426.4 700.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 130,126.4 129,426.4 700.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 130,126.4 129,426.4 700.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 97,942.0 97,942.0 -
N3 T»E2Tx3AY»A
- a3 "3RalY»A, 1ASUST3Y ERZEaieaiUY»h 4112 15,068.0 15,068.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 1,700.0 1,700.0 -
- Tal&sy=t 13¢3(apAlasy Y»ii 4213 240.0 240.0 -
- T2AC 1363{a0AlasYY»h 4214 2,336.0 2,336.0 -
- 2330413 -A3T3Y I2E6»i 4215 300.0 300.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 123.0 123.0 -
- DT TT3T3Y 1363(40Ala0YY»A 4234 60.0 60.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 1,400.0 1,400.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 850.0 850.0 -
- TASYEAAN T 3ICY YiaoA»f 4264 3,027.4 3,027.4 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 300.0 300.0 -

121




“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pintebiinuhh dwiuubph inbGuinbuwghunwywb == Jwnswywl pnigt | dnlnwihl pyniet
a| = 1323T30-U3Y NaTTSTY»AC 3YT3YAiUY»iA e
1 213 |4 5 6 7 8 9
- D3TAT YAST3T3ICY 3 ViasA»f 4269 3,000.0 3,000.0 -
- A3ATS31CA Tx3AY»0 4823 80.0 80.0 -
- 2[f T=Eé»h 4861 1,000.0 1,000.0 -
- T3EST3Y 63003 T1analY»h 5122 700.0 - 700.0
2150|101 | 5 | O |LanhwGnip pGniyph hwipuyghG 1,500.0 - 1,500.0
T36346AIacYY»AC - T&T N» T334 1313Y
YSES. [3gY SRE3T3YuY»A
anco’
2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewinienLbbtnh 1,500.0 - 1,500.0
-TAT N> 3BAT3T3Y ~ V3E=- 13y
SRE3T3YUY»ii
31 ATa0
1. USE3-I3cYy 3RE3T3YaY»A 1,500.0 - 1,500.0
- USES- I3 r3%ar313Y [SEé»h 5134 1,500.0 - 1,500.0
2160| 01| 6 | O |L4anhwGnip pGniyph hwlpuyghG 3 500.0 500.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y4a0)
anco’
2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 500.0 500.0 -
13¢»ACY 83T 13Y40)
31 ATa0
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 200.0 200.0 -
4A4BRA0UY»AC ~~ TxCEY»AC I»l i»A3uYYCE =~
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 1x3A400Y»A
- A3ATS31CA Tx3AY»0 4823 200.0 200.0 -
2. Qnyph Gyundwdp hpwyniGplbph 300.0 300.0 -
-A3Y6U3Y, -YIN3TU3Y =
IO 13T T40AI3Y TA3BU3LAU3Y N» 1
138731 ix3A460Y»A
- A3ATS31CA Tx3AY»0 4823 300.0 300.0 -
2200/02|0 | 0O a=pta2UasAlasy 500.0 500.0 -
31 ATa0
2250| 02| 5 | 0 |&3BU&3YAdAla6Y (3IF 136»ACY 4831 T3Y40) 500.0 500.0 -
anco’
2251|102 | 5 | 1 |43k waA3VasAlasy (3 1=2e»ACY 4831 13Y40) 500.0 500.0 -
31 ATa0
1. BCYSA3ATY»AC N3BT36U3Y, $aAS144C, 500.0 500.0 -
BAA3N3T30¢ ~ I3AA313Y N3i730Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 500.0 500.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

@ 2 3 5 = pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

= 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8

2400 04 0 TUTeE2T20 p2582" 2520AUa000°s 57,391.3 57,391.3 -
31 ATa0

2450|104 | 5 | 0 |TA=YéA4AT 46,199.0 46,199.0 -
anco

2451|104 | 5 | 1 |O=3Y=243AN3(CY wTAZYeQan T 46,199.0 46,199.0 -
31 ATa0
1. Uupwywn-punbu dwdlh Jbpwlnpngnid 26,199.0 26,199.0 -
- 83NE3Y40U
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 26,199.0 26,199.0 -
a=N&=vail
3. CYASO3A»AC T»A3YaN4 - 460 15,000.0 15,000.0 -
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- a0 4251 15,000.0 15,000.0 -
a=N&=vail
8. @3IAa60CY»AC ~~ +~4046Y»AC 5,000.0 5,000.0 -
I»A313640640U "~ NCUY3Y&AE - 46U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 5,000.0 5,000.0 -
a=N&=vail

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 11,192.3 11,192.3 -
136»fCY 4431 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 11,192.3 11,192.3 -
4A3T1=2Y40)
31 ATa0
9. &BAT31CA Ix3AY»AC - 3YOU3Y 1,107.3 1,107.3 -
I363J46A146YY»hA
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 1,107.3 1,107.3 -
T3UUST»AA40AIA0YY»ACY
11. T4Y3 T 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2[f 1=Eé»h 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 10,000.0 10,000.0 -
SBESTIYUY»AC CAZT3Y3640U
- 2[f I=Eé»h 4861 10,000.0 10,000.0 -

2600/06| 0 | O “02T282020£0 pEU262820A0a00 <1 87,500.0 35,000.0 52,500.0

TagasU=2t 12e=20a0A0a000°8

31 ATa0

266006 | 6 | 0 | “YSI3A3Y3CY BCYSAS[E0AIZY ~ 14040V 87,500.0 35,000.0 52,500.0
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 87,500.0 35,000.0 52,500.0
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIZ(»YA

E = 3 s »YA

w2 3| g2 pintebiinuhh dwiuubph inbGuinbuwghunwywb == Jwnswywl pnigt | dnlnwihl pyniet

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

2. Pwquiwplwlwpwl pGGpGph pbip 20,000.0 20,000.0 -
T3YCUY»AC I»A3Yaha- a6l
-D3TAT YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
3. “3I3lcy TBA3Iuy»Ac 52,500.0 - 52,500.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- b»YU»AC * BCYABAIAGYY»AC TSACT3E T»i=Vafa-aU | 5113 50,000.0 - 50,000.0
- 2 U»U»Y3Y»h - 63AUS TaRaiUY»h 5129 2,500.0 - 2,500.0
4. Puqilwplwluwpwl 26Gpbnh pwpblwnqdwl 15,000.0 15,000.0 -
3F 3RE3T3Y0Y»hA
- Untpuhnhwlbp ny wbwnwyw (ng hwdwybpuwyhl) ns 4521 15,000.0 15,000.0 -
YCY3YE3T3Y T3%UST»A&40AIA0YY»ACY

2800/08| 0 | O P20 £eT, @p2TaolA i Tsal 47,785.8 17,785.8 30,000.0
31 ATa0

2810|08 | 1 | O |P3Y-67C ~ 684ATC I36340AI45YY»h 32,350.0 2,350.0 30,000.0
&RCo

281108 | 1 | 1 |D3Y-&WC " 6A4aAWC 1=263(a0AlasYY»f 32,350.0 2,350.0 30,000.0
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 2,350.0 2,350.0 -
13303 1»iA&a0U
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,350.0 2,350.0 -
2. <wlbquwnh qnuinplbph L qpnuwyghlbbph 30,000.0 - 30,000.0
136400400 46 33N43YaU
- P»YU»AG ~ RGYAAIASYY»AC T=é40640U 5112 30,000.0 - 30,000.0

2820|108 | 2 | O |@B3T120A3CY [3E3a0AIA6Y Vi 15,435.8 15,435.8 -
&RCo

2821|108 2 | 1 |AZ13A3YY»A 7,035.8 7,035.8 -
31 ATa0
1. YAZI3H3YICY [BE3J40AI46YY»A 7,035.8 7,035.8 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 7,035.8 7,035.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAA0AIATYY» 8,400.0 8,400.0 -
31 ATa0
1. DBZTE0A3ICY UCcAd3E400Y»AC 8,400.0 8,400.0 -
CASI3Y3646U
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 8,000.0 8,000.0 -
- T»Y6303(CY " NSYASICY eYY1G YiaoA»f 4267 400.0 400.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

el =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|34 5 6 7 8

2900 09 0 ToAabAUaU 209,992.1 209,992.1
31 ATa0

2910(09 | 1 | 0 |USE318/46313Y =~ T3AAZ13Y AYIN3Ya67 102,505.2 102,505.2
TAA&oAl46Y
&RCo

291109 | 1 | 1 |U3E313/463T3Y TrA&sAlasY 102,505.2 102,505.2
31 ATa0
1. USE315746313Y 406466460 102,505.2 102,505.2
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 102,505.2 102,505.2
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363134 - 740 107,486.9 107,486.9
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR403T3Y 136 WC3A3TaoAlasY 107,486.9 107,486.9
31 ATa0
1. 2AT318A46313Y 138 1 C3A3140A146Y 107,486.9 107,486.9
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 107,486.9 107,486.9
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 19,486.6 19,486.6
31 ATa0

3030(10| 3 | 0 |A3A3U3UCY 1aA6A3T 3YOCYD 350.0 350.0
&RCo

3031 10| 3 | 1 |P3ASKL3WCY TaA6AZT 3YOCYU 350.0 350.0
31 ATa0
1. D3A3Y37 440Y»040 3Y03Y6 350.0 350.0
N&sO3AT13 raAacAi3y 133031»A8400
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 350.0 350.0

3090(10 | 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3 19,136.6 19,136.6
136»ACY 4431 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3TY &3RTASVAIAIATY (S 136»ACY 10,700.6 10,700.6
4A3T1=2Y40)
31 ATa0
1. B46C3E3T3Y - Ya6AI3Y 13634064146V Y»AC 10,700.6 10,700.6
- 8AIA6Y»46A13Y 13303 T»A846U0
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 10,421.0 10,421.0
NS T»E3Tx3AY»fA
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c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363130 U3Y (AL T3IV»AC  3YT3VaUY»iA =
1|23 |4 5 6 7 8 9

- T2AC 1363{a0AlasYY»h 4214 69.8 69.8
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 209.8 209.8

3092 10| 9 | 2 |846C3E3T3Y A3 T ASYAAIBYA TH3U31AT40 8,436.0 8,436.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
&3TT=3Y40)
31 Ara0"
2. 2640c40AI3Y 383N4T3 - doAlasY 8,436.0 8,436.0
- 2330413 -A3T3Y I2E6»i 4215 8,436.0 8,436.0
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P2zl 7
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U arasu=y
20lase=T 12

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K

peU21 £A 12842120 pde2UL g2éai

(N=%=f 1A3UY»RAT)

= || 4 “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet

a| = 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA =
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 3,022,197.3 2,669,374.3 352,823.0
2100(01| 0 | O AU _p=20a06 ~UasUAL p2Us=2040 532,071.3 480,548.3 51,523.0
T2e20a0A0a0U°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 470,055.6 462,894.6 7,161.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 470,055.6 462,894.6 7,161.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 461,555.6 454,394.6 7,161.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 343,031.0 343,031.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 52,774.0 52,774.0 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 13,4175 13,4175 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,297.8 1,297.8 -
- T3AC 1363(a0AlasYY»fi 4214 4,846.8 4,846.8 -
- 2330413 -A3T3Y I2E6»i 4215 410.0 410.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 748.0 748.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 710.0 710.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 2,532.4 2,532.4 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 6,005.9 6,005.9 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoe 4261 4,256.5 4,256.5 -
- TASYEAAN T 3ICY YiaoA»f 4264 12,600.0 12,600.0 -
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3| g2 pINLobWIhG dwiuutph nbunGuwghnwywl = Z Jwpswywh pneet | $nlnwihl pnuet

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8

- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 1,714.7 1,714.7 -
-D3WAT YA 213y 3 YidsA»i 4269 5,800.0 5,800.0 -
- A3A31Ch Tx3AY»h 4823 250.0 250.0 -
- 2[f I=Eé»h 4861 2,000.0 2,000.0 -
- T 3EST3Y 6303 TanaiUY»h 5122 7,161.0 - 7,161.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 8,500.0 8,500.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 8,500.0 8,500.0 -
a=N&=vail

2130|01 | 3 | O |Lanhwlanmp plGnyph SwrwynipintGGGn 11,471.3 11,351.3 120.0
anco’

2131|101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip pOniyph 11,471.3 11,351.3 120.0
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST »AC 11,471.3 11,351.3 120.0
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=3pU=31»A8400 (A3 1 TCAZIT31
EQ 2347404140 YY»H)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 10,310.9 10,310.9 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 477.0 477.0 -
- Tal&sy=t 13¢3(apAlasy Y»ii 4213 15.0 15.0 -
- T3AC 1363(apAlasYY»fi 4214 96.3 96.3 -
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 123.0 123.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 96.0 96.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 180.8 180.8 -
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 18.3 18.3 -
- A3A31CA Tx3AY»h 4823 34.0 34.0 -
- 13AE213Y 63A0=T4RAUY»A 5122 120.0 - 120.0

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 44,242.0 - 44,242.0
T36340AIacYY»AC - T&T N» 13341313y
YSE3.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 44,242.0 - 44,242.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3[gY SRE3T3Y0Y»A 44,242.0 - 44,242.0
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=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA =
1 (2|34 5 6 7 8 9
- USE=- 1213 r3T3Y [SEéxf 5134 44,242.0 - 44,242.0
2160|01| 6 | O |LanhwGnip pGniyph hwipughG ) 6,302.4 6,302.4 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco
2161|101 | 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbGEn (wyg 6,302.4 6,302.4 -
13¢»ACY 83T 13Y40)
3 ATasu
1. _ CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,500.0 1,500.0 -
4AdBAGUY»AC " IxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3ATS31CA Tx3AY»f 4823 1,500.0 1,500.0 -
2. Qnyph Gyundwdp hpwyniGplbph 4,802.4 4,802.4 -
-A3Y6U3Y, -YIN3TU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 3,000.0 3,000.0 -
- A3A31CA Tx3AY»h 4823 1,802.4 1,802.4 -
2200(02| 0 | O a=2pta=0asAlacy 2,000.0 2,000.0 -
3 ATasu
2250|102 | 5 | 0 |&3BWE3Ya0Al40Y (3IF 136»ACY 483113Y4a0) 2,000.0 2,000.0 -
anco’
2251|102 | 5 | 1 |43k waA3VasAlasY (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
3 ATasu
1. %CY3E3ATY»AC N3BI36U3Y, $4A3T4AC, 2,000.0 2,000.0 -
BAA3N3T30¢ ~ I3AAZ13Y N3i730Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
2400(04| 0 | O TUTeE2T20 252" 2520AUa000°s 239,510.0 219,710.0 19,800.0
3 ATasu
245004 | 5 | O | TASYE&anT 209,425.0 189,625.0 19,800.0
anco
2451|104 | 5 | 1 |O=Y=2&3AN3ICY wA=YeQanT 194,425.0 189,625.0 4,800.0
3 ATasu
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 133,650.0 133,650.0 -
" 43N&=3YaiU
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 133,650.0 133,650.0 -
a=N&=vail
3. CYASO3A»AC T»A3YaN4 - 460 23,225.0 23,225.0 -
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S A4l

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

- P»YU»AC ~ T3840l6Y»AC AYAS6CT Yana- a0 4251 23,225.0 23,225.0 -
a=N&=vail
4. D»YSE3U»AC I»A3Yan4 - il 9,500.0 9,500.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 9,500.0 9,500.0 -
a=N&=vail
8. I3ias0CY»Ac ~~ +a046Y»Ac 23,250.0 23,250.0 -
(»A313640640U "~ NCUY3YAAE - 46U
- P»YU»AC ~ T3840l6Y»AC AYAS36CT Yana- aU 4251 23,250.0 23,250.0 -
a=N&=vail
11. A»03N3A31Y»A¢ 136406400 4,800.0 - 4,800.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 4,800.0 - 4,800.0

2455|04 | 5 | 5 |E&0ATST3R3A3(CY ~ 3 wASYe&anr 15,000.0 - 15,000.0
31 ATa0
1. I»f»E3TY»AC NCUY3YARAaE - 46U 15,000.0 - 15,000.0
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 15,000.0 - 15,000.0

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbGpnipIN GGG (wy 30,085.0 30,085.0 -
136»fCY 4431 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnninLtGbEn (wy nwubph 30,085.0 30,085.0 -
4A3T1=2Y40)
31 ATa0
11. T4Y3 T 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SRESTIYUY»AC CAZT3Y36400
- 2 I3Eé»h 4861 30,000.0 30,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 8,500.0 8,500.0 -
31 ATa0

2560/ 05| 6 | 0 |bAc3T=3 UCc3 T3¢ &3B143Y40Al46Y (3IF 8,500.0 8,500.0 -
13»ACY 4831 T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlasY (S 13eé»Acy 8,500.0 8,500.0 -
4A3T1=2Y40)
31 ATa0
2. ZET3N3YU3Y ~ UCc3U3U»AllU3Y 3,500.0 3,500.0 -
I363JA0AIA0Y Y»ii /1»63 1 CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 3,500.0 3,500.0 -
3. PIEIA3I3I3Y 446 - SABYY»AC 5,000.0 5,000.0 -

83NE&3Ya0U ~ i»A3Yand-aiu

130




“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

w2 3 g2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

- Tal&sY3t 1=3é3{a0AlasyY»h 4213 5,000.0 5,000.0 -

2600(06|0 | O ~02T2562020£0 pEU262820A0a00 <1 417,189.0 135,689.0 281,500.0

TagaoU=2t 12e20a6Alas0U0°s

31 ATa0

2640|106 | 4 | 0 | 64040Y»AC taié=Fandasy 22,975.0 2,975.0 20,000.0
&RCo

2641|06 | 4 | 1 |6a046Y»AC Fase=Tanasl 22,975.0 2,975.0 20,000.0
31 ATa0
1. b»Yu»AC -»03AT»6 1 313Y 4063 T4A46U 22,975.0 2,975.0 20,000.0
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 2,975.0 2,975.0 -
a=N&=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 20,000.0 - 20,000.0

2660|06 | 6 | 0 | “YSISAIY3CY BCYIASAAGAIZY = T4UAGY3E 394,214.0 132,714.0 261,500.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 394,214.0 132,714.0 261,500.0
1=3¢3a0Ala0YY»A (3l 136»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwlwpwa 2GGpGpH hwpp 4,000.0 4,000.0 -
T3YCUY»AC i»A3YaAa - 46U
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 4,000.0 4,000.0 -
a=N&=vail
2. Pwquiwplwlwpwl pGGpGph pbip 31,769.0 31,769.0 -
T3YCuY»AC i»A3YaAa - 46U
-D3TA YAST3T3(CY 3 ViasA»h 4269 31,769.0 31,769.0 -
3. “3IBlcy TBA3Iay»Ac 288,770.0 27,270.0 261,500.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3Na3vaoU
- Untpuhnhwbp ng wGwnwywb (ng hwdw)Opwihb) ng 4521 27,270.0 27,270.0 -
YCY3YE3T3Y T3%UST»A&40AIA0YY»ACY
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 187,500.0 - 187,500.0
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 74,000.0 - 74,000.0
4. Puqulwplwluwpwl 26Gpbnh pwnpblwnqdwl 46,520.0 46,520.0 -
3 BREST3Y0Y»A
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 46,520.0 46,520.0 -
a=N&=vail
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 23,155.0 23,155.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 23,155.0 23,155.0 -
a=N&=vail
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=t ATai0

= =i ﬁ

E% g I’E E pplll:ﬁggE:lzrhﬁwddﬁﬁlnuhbr&hnxggruEzﬁﬂiﬁ;&f& % % AVESU>YA Jqunswlywb pniot | $nlnwihh pynieb

e aE 1383T37. USY N&LT3TV-AC 3V T3YAIUY»iA £ n Rn R RN

1 |23 |4 5 6 7 8 9

2800/ 08 0 P2UT£ET, Zb=TadlA <1 Tdau 230,428.9 230,428.9
=1 A4

281008 | 1 | O |A3Y-EW¢ ~ E84ATC I363a0AI46YY»A 4,876.6 4,876.6
ance’

2811/08| 1 | 1 |[D3Y-&WC ~ eA4&RNC 1363(40Al46YY»h 4,876.6 4,876.6
=1 A4
1. 6847 3ICY UCcad36400Y»i¢ 4,876.6 4,876.6
I33U31»A840U
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,876.6 4,876.6

2820|108 | 2 | O |@B3T46A3IcY I363404AI46Y YA 225,552.3 225,552.3
ance’

2821|08 | 2 | 1 |TASLI3AZYY»f 48,525.9 48,525.9
=1 A4
1. YAZ13[3Y3cY [SE3J40AlacYY»a 48,525.9 48,525.9
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 48,525.9 48,525.9
(R=20=lYU=ICY) T3S T»AAA0AIAYY»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 134,836.4 134,836.4
=1 A4
1. D3U3)Ya3Ucy UBZTA0IAC ~* 331" A3U3YoC 134,836.4 134,836.4
I33U31»A840U
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 134,836.4 134,836.4
(R=20=lYU=UCY) T3S T»AAA0AIAYY»ACY

282408 | 2 | 4 |2k URSTAASICY T3S T»AAA0AIATYY» 42,190.0 42,190.0
=1 A4
1. OB3146A3ICY UCcad3eaiuy»ag 42,190.0 42,190.0
CASI3Y3646U
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 36,690.0 36,690.0
- T»Y6303(CY " N3YASICY 8YY1C YiasA»f 4267 5,500.0 5,500.0

2900(09|0 | O TaAaAUasU 1,500,022.1 1,500,022.1
=1 A4

2910|1091 |0 qsiész}éﬁé6373Y""'3ﬁﬁ3'l'3YAY1/\73Y'ﬁ~ 1,091,767.2 1,091,767.2
1iA4dAiaey
ance’

2911|109 | 1 | 1 |U=E314R46=31T3Y TAA&AIASY 1,091,767.2 1,091,767.2
=1 A4
1. USE315/46313Y 406400400 1,091,767.2 1,091,767.2
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

35 3| g 2 pinoGnwihG wiuubph nnbwnbuwghunwywb ZF Jw O ] O O ]

] & atnwjpy owuutnn L ugnunuiyuil - nswywl pnigt | dnlnuyhh pinty

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|34 5 6 7 8 9
- UntpuhnhwGbp ng $hOwbuwywl wtnwywb 4511 1,091,767.2 1,091,767.2
(N=3U3{YU=ICY) T3U%UST»AAA0AIAGY Y»ACY

2950|109 | 5 | 0 |Aé7 UBI3A131Y»A¢ 41363134 - 740 408,254.9 408,254.9
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 408,254.9 408,254.9
31 ATa0
1. 2ZAT313A46313Y 1361 C3A3140AlacY 408,254.9 408,254.9
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 408,254.9 408,254.9
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 a42pT1a=20a0Alacy 92,476.0 92,476.0
31 ATa0

3030(10 | 3 | 0 |P3A3B3TCY 14A6AZT 3YOCYU 2,150.0 2,150.0
&RCo

3031| 10| 3 | 1 |P3AS%L3TCY Tanoi=1 3Y0CYu 2,150.0 2,150.0
31 ATa0
1. D3A3Y37 440Y»640 3Y03Y6 2,150.0 2,150.0
N&603AT=3i4A40AI3Y 13303 1»A8400
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,150.0 2,150.0

3090(10 | 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3IF 90,326.0 90,326.0
13»ACY 4831 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y A3 W ASVAAIAY (3l 13e»AcY 31,160.0 31,160.0
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 31,160.0 31,160.0
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI20YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 30,278.9 30,278.9
N3 T»E2Tx3AY»A
- T2AC 1363{a0AlasYY»h 4214 107.8 107.8
- @2V CU3T3Y 1363(a0AlasYY»fi 4241 172.7 172.7
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 600.6 600.6

3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=U31AT40 59,166.0 59,166.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 59,166.0 59,166.0
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=t ATai0

ol
= _| £ & dhGGLnh, fudptiph L nwutiph, hGswtu Gl E
£z %3 3 pwdhGGtinh, fudptinh L nwutinh, hGswtu Guw 2= AVSUYA
2 3 E3 pnigbwhl dwjuubnh nGwbuwghnwwt | E = Ywnswlwt pinigb | $nlnuwihl pintet
a| = 1353137 U3Y NALT2TV»AC 3V T3VAUT»RA =
1 2|3 |4 5 6 7 8 9
- 233473 AST3Y I3Eeé»f 4215 59,166.0 59,166.0
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PD3»Ei=317
OfF 3Y uB030C 313-3V4)
2020 pwywbh nGywinkdptph 23-h
N 310-U ananusy
20lase=T 13

©3°1 20 2021 AT 2T2UL “Uad=°k 12842120 1 tal 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°T20£U 12E&°8K

2202g°¢-%2UAaU 12842120 bdxe2UE g2éai

(N=%=f 1A3UY»RAT)

= || 4 “laie»WS(CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

w2 3| E cﬂ_ pInLpbnwihb dwiuutiph inbwnbuwghunwywb ==z Junswywb pnigt | $nlnuyhl pyniet

a| = 1363137-U3Y NALTSIV»AC 3YT3VaUY»AA =
1 (2|3 |4 5 6 7 8 9
AU _2@g°UA T2Eé°5 2,113,452.3 1,942,062.3 171,390.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 449,035.2 430,645.2 18,390.0
T12&20asAlas00°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 436,961.9 421,571.9 15,390.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 436,961.9 421,571.9 15,390.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 428,961.9 421,571.9 7,390.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 317,057.0 317,057.0 -
N3 T»E2Tx3AY»A
- &3-S TRaUY»A, 1ASUST3Y EASE4&ieaiUY»1 4112 48,778.0 48,778.0 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 19,370.0 19,370.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,669.7 1,669.7 -
- T3AC 1363(a0AlasYY»fi 4214 7,501.0 7,501.0 -
- 283413 -A3T3Y I3Eé»A 4215 460.0 460.0 -
- aluC  e3AUS TaRasUY»AC TSAOST3tacAlasY 4216 605.0 605.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 500.0 500.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 300.0 300.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 892.6 892.6 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 1,000.0 1,000.0 -
- @2eY32.CU3T3Y 1363(a0AlasYY»fi 4241 741.0 741.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 4,320.0 4,320.0 -

Yaiia-ail - a=Na=vasl
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 (2|34 5 6 7 8

- MA=E»YIST3ICY YiaoA»A ™ N=-a0ew 4261 2,336.9 2,336.9 -
- TASYEAANT3ICY YiaoA»f 4264 7,671.4 7,671.4 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 2,269.3 2,269.3 -
-D3WAT YA 213y 3 YidsA»i 4269 4,000.0 4,000.0 -
- A3A31Ch Tx3AY»h 4823 100.0 100.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- 13AE213Y 63A0=T4RAUY»A 5122 7,390.0 - 7,390.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 8,000.0 - 8,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 8,000.0 - 8,000.0

2130|01| 3 | O |Lanhwlanip plGnyph SwrwynipintGlGGn 7,473.3 7,473.3 -
anco

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 7,473.3 7,473.3 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST1»AC 7,473.3 7,473.3 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=pU=31»A8400 (A3 1 iCAZ1T=31
EQ 2347404140 YY»H)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 6,270.0 6,270.0 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 491.1 491.1 -
- T2AC 1363{a0AlasYY»h 4214 87.9 87.9 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 624.3 624.3 -

2150|101 | 5 | O |L4anhwGnip pGniyph hwlpughG 3,000.0 - 3,000.0
I36340AIacYY»AC - T4T N» T334 1313Y
YSEZ.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwpwihb SwewinienLbbtnh 3,000.0 - 3,000.0
-TAT N> 3BAT3T3Y ~ V3E=- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 3,000.0 - 3,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 3,000.0 - 3,000.0

2160|01| 6 | O |LanhwGnip pGniyph hwlpuyghG ) 1,600.0 1,600.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco’

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 1,600.0 1,600.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA

e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt

a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 1,000.0 1,000.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 600.0 600.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» 13T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- A3AT31CA Tx3AY»f 4823 600.0 600.0 -

2200/02|0 | 0 a=2pta=0asAlacy 1,500.0 1,500.0 -
31 ATa0

2250| 02| 5 | O |&3BU&3YadAla6Y (3IF 136»ACY 4831 T3Y40) 1,500.0 1,500.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 1,500.0 1,500.0 -
31 ATa0
1. %CYS 83U Y»AC N3BT36U3Y, $aA=3144C, 1,500.0 1,500.0 -
BaASN3T30C ~ 2AA3I3Y N3T30Y»AC
I3BU31>A8U3YY S¢c31040AI46Y
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 150,953.0 133,953.0 17,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 120,868.0 103,868.0 17,000.0
anco

2451|104 | 5 | 1 |O=Y=2&3AN3(CY wTAZYeQanT 105,868.0 103,868.0 2,000.0
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 68,940.0 68,940.0 -
- &3NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 68,940.0 68,940.0 -
a=N&=vail
3. CYASO3A»AC T»A3Yah4 - 460 12,000.0 12,000.0 -
- P»YU»AC  T2840l6Y»AC AYAS36CT Yana- aU 4251 12,000.0 12,000.0 -
a=N&=vail
4. D»Y3E3U»AC i»A3YaAa - 46U 15,000.0 15,000.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail
8. @31[ai0CY»A¢C ~~ +~a046Y»Ac 7,928.0 7,928.0 -
I»A313640640U "~ NCUY3Y&AE - 46U
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 7,928.0 7,928.0 -

a=fa=vail
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=t ATai0

= = oy ﬁ
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
e 2 3| § 2 pntobitnuyh dwiuubiph inlnbuwghnwywt 2z Jwnswywl pnigt | nlnuyhl pynigt
a| = 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8 9
11. A»u3N3AA31Y»A¢ 136406400 2,000.0 - 2,000.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 2,000.0 - 2,000.0
2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wASYE 4R T 15,000.0 - 15,000.0
31 ATa0
1. I»f»E3TY»AC NCUY3YAAa - 46U 15,000.0 - 15,000.0
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 15,000.0 - 15,000.0
2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipIN GGG (wy 30,085.0 30,085.0 -
136»ACY 4431 T3Y40)
&RCo
2491|104 | 9 | 1 |SGnbuwywb hwpwpetnnipntGbEn (wy nwubph 30,085.0 30,085.0 -
4A3T1=2Y40)
31 ATa0
11. T4Y3 T 3x38Y»AC I3pU31»A840U0 85.0 85.0 -
- 2t ISEé»f 4861 85.0 85.0 -
12. DAZT34 £401400 E3N3Ycal AYA36CT 30,000.0 30,000.0 -
SRESTIYUY»AC CAZT3Y3640U
- 2k I=Eé»i 4861 30,000.0 30,000.0 -
2500/05| 0 | O pdx2T2 GA=21208 a42pTa=20asAlacy 5,000.0 5,000.0 -
31 ATa0
2560/ 05| 6 | 0 |bAc3T=3 UCc3 T3¢ &30 43Y40Al40Y (3IF 5,000.0 5,000.0 -
13»ACY 4831 T3Y40)
&RCo
2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13e»Acy 5,000.0 5,000.0 -
4A3T1=2Y40)
31 ATa0
2. ZET3N3YU3Y ~ UCc3 U 3U»AlU3Y 5,000.0 5,000.0 -
I363J40AIA0Y Y»ii /1»63 T CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,000.0 5,000.0 -
2600/06| 0 | O “02T282020£0 pEU262820A0a00 <1 284,094.0 148,094.0 136,000.0
TagasU=2t 12e=20a0A0a000°8
31 ATa0
266006 | 6 | 0 | “YSI3A3Y3CY BCYSAS[E0AIZY ~ 1a040Y3¢ 284,094.0 148,094.0 136,000.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo
2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3t 284,094.0 148,094.0 136,000.0

1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)

=t ATai0
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

= g 3 uwh( Swiuubnh nGnbuwghiwywa = > G pyniot GnwihG pintob

w2 3 5 & RINLeGIUYNG dwiuutnh L ughinwyw - Juinswlw pnigh | $nlnuwiht pintg

a| = 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA =
1 |23 |4 5 6 7 8 9

1. Pwquiwplwlwpwa 26GpGpH hwpp 37,094.0 37,094.0 -
T3YCUY»AC I»A3Yaha- a6l
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 37,094.0 37,094.0 -
a=N&=vail
2. Puqudwplwluwpwl 26Gplph plip 40,500.0 22,000.0 18,500.0
T3YCUY»AC I»A3Yaha - aiu
- D3 YAST3T3(CY 3 ViasA»h 4269 22,000.0 22,000.0 -
- b»YO»AC * BCYASAIAGYY»AC TSACT3E I»i=Vafa-4l | 5113 18,500.0 - 18,500.0
3. “3I3cYy T3A3Muy»Ac 128,500.0 11,000.0 117,500.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3Na3vaoU
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 11,000.0 11,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 112,500.0 - 112,500.0
- 2 U»U»Y3Y»h " 63AUS TaRaiUY»h 5129 5,000.0 - 5,000.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 70,000.0 70,000.0 -
3F 3RE3T3Y0Y»A
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 70,000.0 70,000.0 -
a=N&=vail
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 8,000.0 8,000.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 8,000.0 8,000.0 -
a=N&=vail

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 74,671.2 74,671.2 -
31 ATa0

281008 | 1 | O |A3Y-EW¢ ~ 84ATC 363404146V Y»A 3,735.0 3,735.0 -
&RCo

281108 | 1 | 1 |D3Y-&WC " 8A4&RNNC 1363[a0AlasYY»fi 3,735.0 3,735.0 -
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 3,735.0 3,735.0 -
13303 1»A&a0U0
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 3,735.0 3,735.0 -

2820|08 | 2 | O | @B3T146A3IcY I36346AI46YY»A 70,936.2 70,936.2 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 32,397.8 32,397.8 -
31 ATa0
1. YAZI3H3YICY [BE3J40AI46YY»A 32,397.8 32,397.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 32,397.8 32,397.8 -

(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
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=t ATai0

= = oy ﬁ

c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVISUsYA

c 3 =

2 3| c pintebunwihb dwiuubph tnbwnbuwghunwywb == Junswywb pinigt | $nlnuwyhl pjniok
Ler) e | ot a NI — - AL B
= 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =

1 (2|3 |4 5 6 7 8 9

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 21,423.4 21,423.4
31 ATa0°
1. D3U3Ya3icY UBZTAGIAC ~ 3y31 A3U3YéC 21,423.4 21,423.4
I'33031»A840U
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 21,423.4 21,423.4
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y »ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA&0AIAGYY»A 17,115.0 17,115.0
31 ATa0°
1. DBZTE0A3ICY UCcAd3E400Y»AC 17,115.0 17,115.0
CASI3Y36460
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 14,475.0 14,475.0
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 2,640.0 2,640.0

2900/09| 0 | O ToAabAlaU 1,074,232.4 1,074,232.4
31 Afa0°

2910(09 | 1 | 0 |USE318A46313Y =~ T3AAZ13Y AYIN3Ya67 652,473.2 652,473.2
TAA&0AI4sY
anco’

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 652,473.2 652,473.2
3 AfaU°
1. USE315746313Y 406466460 652,473.2 652,473.2
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 652,473.2 652,473.2
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 421,759.2 421,759.2
TAA&0AI4sY
anco’

2951|109 | 5 | 1 [2AW31AR403T3Y 136 WC3A3TaoAlasY 421,759.2 421,759.2
31 Afa0°
1. 2AT318A46313Y 138 1 C3A3140A146Y 421,759.2 421,759.2
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 421,759.2 421,759.2
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 a42pT14a=20a0Alacu 73,966.5 73,966.5
31 ATa0°

3030|10 | 3 | 0 |P3A3B3TCY 14A6A3T 3YOCYU 450.0 450.0
anco’

3031 10| 3 | 1 |P3ASKL3WCY TaA6AZT 3YOCYU 450.0 450.0

=t ATai0
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= || 4 “laie»W=CY TSES»AC -anT=63T3Y 136¢313/-03Y | & 3 ATasu
c a5 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb g, = AVISU»YA
.;:-:;, 2 3 _5 cﬂ_ pInLobiwIhb (;Iu;II',lJUErII’lE.nULnbUU:KihLDL}Jl:IL}JU ) = Z Jwpswyw pniot | $nbnuwjhb pneet
o 1363137 U3Y NALT3IV»AC SYT3YAUY»AA =
1 |23 |4 5 6 7 8
1. D3A3Y3T 440Y»040 3Y03Y6 450.0 450.0
NE&603AT3i4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 450.0 450.0
309010 | 9 | O |846C3H313Y &33BT A&3Ya0Al46Y (3IF 73,516.5 73,516.5
13»ACY 4831 T3Y40)
&RCo
3091 10| 9 | 1 |846C3E3TY &3RTASVAIAIATY (S 138»ACY 30,196.5 30,196.5
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 30,196.5 30,196.5
- 4AT40Y»40AI3Y 133031»A8400
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 28,921.7 28,921.7
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 590.5 590.5
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 18.9 18.9
- T2AC 1363{a0AlasYY»h 4214 286.6 286.6
- MA=E»YIST3ICY YiaoA»A ™ N=-a0ew 4261 278.8 278.8
- T»Y6=303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0
3092|10| 9 | 2 |€46C3E3T3Y &3/ W ASVAIAIRYA WA=U31AT40 43,320.0 43,320.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 43,320.0 43,320.0
- 2483413 -A3T3Y I3Eé»f 4215 43,320.0 43,320.0
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